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.~ B.Com. (Gen/Res/Voc) DEGREE EXAMINATION, MARCH/APRIL 2016
| (Reg_uiar) |
(Examination at.the end of Second Year) .
PartII
ADVANCED ACCOUNTING — II
(Regulation 2010-11)

Time : Three hours - : 7 ' ‘ Maximum : 70 marks

SECTION A — (4 x 5= 20 marks)
Answer any FOUR of the following queétions. :

Differences between statement of affairs and balance sheet.

S50 TIEED e @D S8 ByTrRees H5605%0.

Explain the features of Hire Purchase System.

o SR’ 358 ejs;e:re)m D380,

What are the Varlous features of Departmental Stores?

Qg JEAHToO ooy 8ok,

What do you understand by an Income and Expendlture account? Explam its charactenstms.
STA0, :32303310 PR I DAY TR OLETO[ 332.680{53;&»

Explaln the various kinds of pa;tners-

epWﬁn@és 830050 D580BV0&.

Give an account of dlscount and premium issue of shares.
TS &avboeg Ho80%0 e POIC0B0E DDBoBOE.

SECTION B — (5 x 10 =50 marks)
Answer any ONE of the following from each Unit.
| UNITI

Arun maintains his books of accounts under single entry on 2004 April 1, his financial
posmon was :

Cash in hand Rs. 1,800; Cash at bank Rs. 27,000; Stock Rs. 1,80,000; Debtors Rs. 76,500;
Furniture Rs. 16,200; Plant and Machinery Rs. 1,35,000; Creditors Rs. 1,98,000. Arun

brought in an additional capital Rs. 45,000 in that vear and his drawmgs Rs. 6,750 per
month. On 31.3.2005 his financial position was :

Cash in hand Rs. 2,700. Cash at bank Rs. 18, 000 Debtors Rs. 1,26,000; Stock Rs. 1,71,000;
Plant and Machmery Rs.-2,43,000; Furniture Rs. 13,500; Credltors Rs 2,61,000.

From the above partlculars ascertain profit or loss by preparing statement of affairs for the
year ending 31.3. 9005




9% BB P HITOR 208 $GQ JTHS” DEErRITRED. 2004 VDS 1D 9B G, B85 39
808 250 DB, | o |
| 8S* asm:aa 8. 1,800; arpoHs’ X)Kdﬁo 8. 27,000; $gH $e. 1,80,000; ameaﬁ"men :
8. 76,500; qaecr:sg . 16,200; Zrowo 0Bk . abogres 8. 1,35,000; ameaw“éfsen '
&7, 1,98,000; o8l S20L99y% 659 Saregvo &7 45,000; & Sons® 0B dofmrdses
0% §8 6. 6,750; 3L 378 2005 H 6B ©8Y 38 IO S & 2,700; ergoHs® B
. 18,000; aaaoea[_ﬁ“%:; & 1,26,000; S50 &, 1,71,000; o6 H6eH1 aHoEeed
&5°. 2,43,000; 5455 5. 13,500; 2sesmrses 85°. 2,61,000. |
P DBTre B0k ergidn Bar SipRy 31 H08) 2005 & ©0EHEg oSBT BSTFre &3&5-530" ) |
BOsrE> Bofuio. -

On 1.01.2011 Behra T:péders purchased a machine from Tata Company, on hire purchase.
The tern of the contract was as follows : ' :

(2} Cash price of the machine was Rs. 90,000.
(b) Rs. 30,000 was to.be paid on. signing the contract.

(© - The balance will be paid in an.annual installment of Rs. 20,000 plus ixiterest.
(d) Interest charoeabie on outstanding balance at 10% per annu.m
(¢) Depreciation at 20% per annum is to be written off on straight line method. -

You are required to show Tata Company a/c and Machmery alc in the books of Behra
: Traders

1012011 % B0 Le'.%czén) 2.8 &o@o@& grer S0 o0& &g mﬁ*‘ep SESD ?&ﬁseu Bdos.
2 5106506% B0 §0B DBV 9.
() O Bk, B &8 8. 90,000.
()  250606° HowEsn BIS Doesd 6. 30,000 eo BYoBSSH.
(c). SORED DooweRy K. 20,000 S’{JQ}J‘{) 0% aﬁoaam"oé’s 5@02}1@;
@ 3G DoTyd Degp K;ééééamag 10% S5 |
‘(e) BRSO Douds 2@% TGP R PO SE85 By BADLOG.
2 D5Te ok wrer -éo";-)i) TR, COE TR 5:‘553@ 558y HIsTeS® BosrH

, 30&1)?333
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UNITII

9.  From the fo]lowmcr Trial Balance 31 12.2013 prepare “Depaltmental Profit and Loss A/c” of
Departments of P and @.

Debit Balance  Rs. Credit Balance Rs.
Rent 7,500 Capital © 18,000
Advertisements 10,000 Other liabilities 8,000

" Salaries 8,000 Gross profit of P. Dept. 26,000
" Discount 6,000 Gross profit of Q. Dept'. 18,000
Fixed assets 36 000
Debtors . 2,500

- 70,000 ' - 70,000

Consider the following information :
(@) Rent, salary i in the ratio of 3 :

(b) Advertisements and discount in the ratio of sales volume. Sales of P Dept Rs. 40,000;
@ Dept. Rs. 10,000.

© Depreciation on fixed assets Rs. 3,000 be divided in 1: 1.

131.12.2013 &° e 1868 eo¥er 2639& QgD eﬁ;ﬁ:ﬁ%@ graeay P oSoBoin Q' DegFrrrol) HoIF

Bs0800. |
sadoey  &r. -' Ba&Soes &~
o 7,500  Soressten © 18,000
BEBe> 10,000 =SS egpens sr,oQo o
e 8,000 P 2geKd Sire ey 26,000

B0l 5,000 QY Se egsn 18,000
goger 36,000
ragsffves 2,500
70,000 , 70,000
S 808 IS BEFTE5D 58?1895)6%3&&)?}65@63 :
@ o8, deeo 31 2 DRES’ S, |

(b) [PEedes 2o8atn Gomolesy eamésoo 3)«%)@66 S0%98%0. P 25K eﬂéoés"eo . 40,000;
Q :)wﬁé).eaéoé?w &, 10,000.

(0 RY exep BHI0ES K. 3,000 00 1 : 1 358S° Ho3SB.
| 3 | | ~ (2201)




10. The followmc Trlal Balance of a branch is given below :

Debit Balance Rs. Credit Balance Rs.

Stock 8,300 Sales . 44,100
Purchases . 20,100 Creditors 5,200 .
Goods received from H.O. 15,600 H.O. account . 14,100
Carriage © 1,800 ’
Salaries | 6,100
General expe_nsés 3,600
“Debtors : 6,800
Bank balance 1,100

63,400 . 63,400

The closing stock at the branch was Rs. 7,600. Branch has to be charged Rs. 1,500 in respect -
of depreciation of branch assets whose accounts are kept in Head Office books In the Head
Office books, Branch aecounts stands at Rs. 20,400 (Dr.)

" (a) Prepare the branch tradmo and profit and loss account and balance sheet.

() Give Journal entries for mcorporatlon of the ﬁgures in Head Office books. -

L§of:3 @08 2.8 prods Dodds :
aoSoee - & BaS Degen &
S8 8300 esyse 44,100
SRRy 20,100 awewde> 5,200

8 6B 203 DO BH 15,600 08 edD gree 14,100

srer 1,800
Sy 6100
oo pines 3,600
| aoepiye 6,800
2505 deged ' : 1,106 ‘
63,400 63,400

oD B 9 SnRo B &. 7,600, grod e’mefb 5. 1,500 0 BEHXE08 HBODERDE.

@0 Le e & edd Hised® @:6&5 & ehd “’gsw.)és EFod e Deg
&e. 20 400 (DI‘) ‘
(a) LZJ"O& IO TR e;efo SNSLREELY éoﬁrdg D%,

B & @dD Hds 0&3’8 585 a)wa)c‘.iom BRI WaAHw.

....D
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UNIT III

11. Prepare Income and Expenditure a/c and opening and closing balance sheets from the
following. Receipt and Payment a/c of an educational institution for 31.12.2013 as follows :

Receipts Rs. Payments - Rs.
1.1.2013  To Opening balance 14,000 3‘1.12_.20 13 By Furniture (Névir) 8,000
31.12.2013 To Subscriptions 23,000 By Stationery - 13,800
| To Admission fees 15,000 . By Library (Books) 10,000
To Legacies 30,000 7 ' By Maintenance ‘ 6,200
To Sale of newspapers 4,000 By Electricity = 7,500
To Interest 1,006 By Sfaff salary . 16,300
~ o ' By Balance ¢/d 25,200
S 87,000 87,000
‘Additional Information: - .

(a) . Subscriptions outstanding for the current year Rs. 3,_000 and received in advance of-
Rs. 1,000. '

(b) - Outstanding stationery bill Rs. 1,200.
. (¢) - Opening assets : .
Buildings Rs. 35,000.
Computer Rs. 22.00'0.
Electricity equipments Rs. 10,000.

28 9wy HoPH DoAY By, Ddohe grEe od 31.12.2013 wosiodhy Serdd ewrob,

D50 e R0d, Sofod) e eXpe IFE S Dakwdw :

SRy : 8. 3QoHeo o)
112013 To@wosd oeg 14000 31.12.2013 By 5636 (,_g“éa) - 8,000
31.12.2013 To Somes 23,000 o By-;g:gse " 13,800
To 5% &oitaso 15000 pyswh (sees) 10,000
To TEd@ge0 ‘ 30,000 B 6,200
- To oo D8 ERBERIY 4,000 ' By g;gg;?s;f)ag 7,500
To $& ' - 1,000 By depod Sz 16,300

By 8% deg 25,200

87,000 o 87,000

5 - (2201)




@éa@nwsoé@ :
()  [BRBB0nD3 HAyS Somren K. 3,000 H08cKn B00Sore HITBRD &, 1,000
®) DYoTdyd P56 Bey 8. 1,200 -
©  @vord esifgen : |
a5t — 6. 35,000
KogmgB - 8. 22,000
225538 36 — 8. 10,000.

12. From the following details prepare Receipts anci Payments account : '
- Rs.
‘Opening cash in hand - 500
Opening bank balance 4,800
Subscription collected 11,000

Entrance fees'receiv;ed 1,000
‘Salary paid 3,000

| Rent paid : 1,200 |
Furniture purchased - 2,000
Tournément expenses 3,000

Entertainment expenses 1,500

Periodicals - 1,200
Miscellaneous expenses’ 300

Cash in hand at close 800
s (808 BT B0od DAY BP0 grEEd HATE DAosw.
.
D805 DAS® HKH 500
50853 a0t Deud 4,800
T RATSD Dowren 12,000
D378 59% Hdodo 1,000
30008 deves 3000 -

2902 @"Q" 1,200

6 R - (2201)



13.

50 o0 DD ;::801;5&
eSGtggjooeg PENe
.&’35565 PN

2370 H@en
e=lxle] 3;)5.3‘_)&)'

2oofod 3@6‘5 Qog

- UNIT IV

X, Y and Z were partners in a partnershlp sharing Proﬁt and Loss in 3:

sheet as follows -

X Capital 80,000 Buidings

Y Capital ‘ 50,000 Furniture

Z Capital 20,000 Debtors
Reserve fund 9,000 Closing stock
Bank overdraft 16,000 Bank
Creditors 25,000
' 2,00,000

Additional Information :

2,000

. 3,000

1,500
1,200
300

800

Liabilities " Rs. Assets

Mr. X retires from the business on the following terms :

() Appreciate buildings value by 20%.
®) Depreciate furniture at 10%.

(¢} Bad debts as debtors Rs. 6,000.

(d) - Goodwill valued at Rs: 24,000.

~

Show the necessary accounts and balance sheet:
2.8 gritdegdog HoRS” X, ¥ 2oBao Zes3:2:1 DPES® e Hapor o)O'éJQOBJOUQdJ 8 eio,

- e oaeé s |508 desorr &é&&ﬁ.

P L8, e300V

XSorossdn 80,000  #dwreo

Y doreEssn 50,000 5856

 Z 30refdhaw 20,000  Soesioen

7

Rs.
60,000
15,000
30,000

75,000
20,000

2,00,000

&,

60,000

15,000

30,000

: 1. Their balance

(2201)



®JPeY - 8o ea@o&) &I,

Basg®8 9,000 BwRoDH SHH 75,000
o 836 @ 16,000 angofd | 20,000
Soearrsen 25,000 | |
2,00,000 - 12,00,000
98585 a'a.moaoessm: '

& X 308 58800 Bl D8%0es Bdech. | |
(@) oo 5@3;5 20% Dowd.
() $8H& 10% éﬁo;-a»é.
(c)- | Hesie o N 8°. 6,000 |
(@) &S 2005 & 24,000
OSOERH e, e @:ao}se;égga BALTE Bafoio.
A and B were equal partners in a busu-less They agreed té dissolve the partnershlp oﬁ

31.12.2013. Their balance sheet as under : ‘
Liabilities Rs. Assets Rs.

Mortgage loan. 5,000 Plant 10,000

Acapital 20,000 Furniture 6,000

. Boapital 15,000 Debtors 7,000

- | : : o Stock: 13;000
Cash 4,000

. 40,000 40,000

-

The assets realized as gnde¥ :
(a) Plant Rs. 8,000; Furniture .Rs. 3,000; Debtors Rs. 4,000; Stock at Rs. 10,000.
(b)  The mortgage loan Was paid in full. |

(c) The realization expenses paid to Rs. 1,400.

Prepare necessary accounts.

8 ) : (220{[)_



2.8 TYPE0S” A 8ok B e S5 rien. T8 e 31.42.2013 % 85 e,

T8 e300 @éﬁ}ﬁ@ 563 1808 agore &,

PO &r. esdgen 8.
Sdgr awedn 5,000 oy 10,000
ASororsin 20,000 $H3%H 6,000

BSaressdn 15,000 avespties 7,000

BE% 13,000

Sy 4,000

40,000 40,000
800 o8 SJ-C§®N° RRVISHAR |
(a)  2poeS & 8,000; 5850 3,000; eoeaidoe &, 4,000; $K% &, 10,000
() e aoesion TG BYCSRESH.
() 3630, Peyes DYodD &7 1,400.
ezﬁééﬁp_ﬁ FEPOR) HATE BowDw.

UNITV

- 15, Journalise the following at the time of issue of Debenture and Redemptidn.

(&) A debenture issued at Rs. 95;l repayable at 100.
@) A debenture issued at Rs. 95; rep.ayable at 105.
(¢} A debenture issued at Rs. 100; repay-able at 105.
(d) A debenture issued at Rs. 105; repéyéble at 100.

&0 a8 2Bk FATDI0 VossTned, DegHeier Erasos ;

(a) o 95 % b 32D EmosEm &7, 100 0% :mf-:a?azsga
e 5. 95 & B B ADoK 57, 105 & 520753550

(© & 100 % &8 3?026-&50;550.6; eﬁyn 105 & Jd8500

@ 8. 105 % B 305 EBoBEo 57, 100 55550, |
' ' 9 ' (2201




16 E and F company 1ssued 1 000 equity shares of Rs. 100 each at a premium of Rs. 20 per
share payable as follows :

On Application Rs. 20.

On allotment Rs. 60 (including premium).

On first and final call Rs. 40.
| All the money was duly received.

Pass journal entries in the books of the company.

He mad’m D EonD 1,000 Hedged areren T &, :LOO 5%0}336 &g, 20 @émotboﬁs L§o&3 dorre
_ esva ::‘Saoa

GgrRgR &, 20.
Beroo0onD &, 60 (D20cHos® 555
2006563 508050 98 HeoHD K. 40

&) éaﬁ;inéw JRATPO AT, aé\géc‘.ﬁgem S357¢50 DaHod.

10 - (2201)



13.

14,

15.

- 186,

- UNITIV
Explain the structure of Indian Money Market.
ar8G |80y ;ﬁyﬁbeg DORERDN HBOHB.
Or

Write the functions of SEBI.

R B, DEIOR FEAKBD,

UNIT V

Briefly explain the procedure for issuing Life
Insurance Policy. :

208 P50 od b Do dTHHLH So8Jor |
 2i58oya. | |

Or
Write the different types of fire insurance. |

of) DT RS BEBVODR FEOIBL. .

4 (2202)
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B.Com. (Gen/Res/Voc) DEGREE EXAMINATION,
- MARCH/APRIL 2016.

(Regular)
- (Examination at the end of Second Year)
Part 11

FINANCIAL SERVICES, BANKING AND
INSURANCE — I1 '

(Regulation 2010-2011)

Time : Three hours Maximum : 70 marks

SECTION A — (4 x 5 = 20 marks)
Answer any FOUR. of the folléwing questions.

1. - What are the functions of commercial banks?
eeess o0 B, HEHEd DHOS?
2. Importance of Indigenous bankers.

BBAD ergosy e



Types of crossing cheque.
D& S0 SER00) [@Pa%0H.

- What are the differences between primary market
and secondary market? -

Y HIT)S bk Bgdah 83705 Hacsy
Brois @O0, |
E-banking.
'a—ai"ago?,oﬁ..
Surrender value.
A Dewd.
SECTION B — (5 x 10 = 50 marks) .

Answer ONI of the following from each Unit. |
UNITI

State the principles of Life Insurance.
BOBHHI BorBH0e) BOYHw.
Oy
Explain the Insurance reforms in India.
588 Pdrvoll Sod)Seen HIBoHHL.
2 (2202)

10.

11.

12.

UNIT 11

What are the differences between unit banking
and branch banking? '

ODES ersoloRl S8y o emgoBoR Bolsy Ko

Boren Ho?

Or
Explain the role of NABARD.-
eeredy B30 DSBoH.
UNIT III

Write the relationship between banker and the
customer. ‘ ‘

2J°§O§Ci) SuB8din . BN arlel) :6’36,55:‘{@ Mlet e TATNIEINN
o505, '

Or
Write about Hypothecation and pledge.

o8BS SoBakw B8y K16y ErakvR.

3 (2202)
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B.Com. (Gen.) DEGREE EXAMINATION, MARCH/APRIL 2016
T Regula) o
(Examination at the end of Second Year)
- PartII -
TAXATION —II-
(Regulation 2010-11) |
Time : Three hours o o - ' '~ Maximum : 70 marks.
SECTION A — (4 x5=20 marks) | |
Answef any FOUR of the following.

Each question carries 5 marks.

1.  Explain Taxation System in India. : _

EEEHOSD Sihy DR D5B0B0S.
2. Define Person and Assessee.

3589, @i 9580304,
3. Whatare deemed assets?

ea@néum rD05ED D032
4. Whatis meant by perquisites?

:Jae)agéu ISTTTRDI?
5. Define annual value.

85 D005 3)8000,0:.’30&
oM > .

6.  What are the various types of assessments?

22 Bseo I8y DBoHod DHBoBos.

=3

Explain concept of warghousing.

- Rgothos 938ow0s.

'8, Whatis VAT? Explain the significance of VAT.
| VAT-odmdno? VAT @einoggito 958055,



10.

SECTION B — (5 x 10 = 50 marks)

Answer ALL questions.

The following are the income earned by Miss: Vennela during the previous year 20 1@2015.
(a) Income earned in India, but received in Italy Rs. 60,000. 7 '
(b) Bﬁsiness pr(_)ﬁts earned in Burma Rs. 80,000, the business is controlled from India.
(c)" Rent received on a house situated in America Rs. 30,000 which is remitted to India.
(@) Dividends received in London from an Indian Company Rs. 20,000. '
(é) Agricultural Income in Nepal Rs. 50,000.
From the above particulars, ascertain the taxable income of Miss. Vennela'ifsheis a
@  Resident. ' o
(i) Not ordinarily resident.
(iii) Non-Resident.

205 IR0 B¢ 1806 ErosreRs 2014-2015 S $058)50S° 0T,

(a)  SEd%es es809, 20dS° HeEBod. estrasio 55 6,000

(b) 2Ty véa?)vé SALOY) ‘dP.S0,0QO, 253;%850 wééﬁ‘é@ 20 DOHOGoDNEDE
(© e85 HyFR esmrao 85°.80,000 grsddedd 50523&?56 |
@  2rE8aH S0 TD° 0oESS® Jg¥BoD SoBody &.20,000
@ [rSSD ;Sgosaoém esw°a0 &3, 50,000 |

? D508 5 IR @k, D9 90D B GTARY D

@) 7R B ey DT | M

(ii) TR éa) e DT T -

(i) DD 56 SaNBpc BE,0D06.

Or

Smt. Pfamjla is wdrking as a Lecturer, her salarjr details were as foilows :
Basic pay — Rs. 18,000 p.m.

Dearness allowance — Rs. 5,000 p.m.

House rent allowance — Rs. 3,500 pm (She is living in he'r own hduse).
Entertainment allowance — Rs. 1,000 p.m. ‘

City compensatory allowance — Rs. 1,500 p.m.

Professional tax paid by her Rs. 175 p.m.

B Compute income from salary if she is working in a Govefnment college.

2 . (2203)




&8 phoo 2 ¥ swésggws>-. 520 o ;sa;s

oo 35:3:,3» Do 18,‘000' | |

) eﬁéém oK 5,000

8083 B D i d0KH 35,000 (e:m B "*noé coooeSeSa o:amraaaa)
- 25%s g 30 1,000

Segea SO 350 Do 1,500

8 59y 0IA Do 175

2

&0 (Pghsg eéﬁeéﬂm-e,ﬁ')o& 2o K)Jo&'eamoﬁﬁx)& B8),0506.

Mr. Shekar furnishes the following partlculars relatmg to His incomes and losses for the
assessment year 2015-16. :

(a) Short- term capltal gain Rs. 5,000.

(b) Long term capital gam (Gold) Rs. 7, 500

(©  Speculation proﬁts Es. 5,000.

| (d) Profits from stationery business Rs. 5,000.
- (@ Profits ﬁom statlonery busmess Rs. 15,000.
N -,__..'.Income fiom house property Rs 10 000

' "'(g)" '_ Income from mterest on securltles Rs 5 000

Fo]lowmg are brought forward 1tems of losses and expenses ft'Dm prewous year
_ '.(a)'l-'f.'Loss from prowsmn stores (dlscontmued) Rs: 5 000 B Al =

‘ (b) jl Share of loss from crockery busmess Bs 4 000 b e

| (C) Unabsorbed depremation Rs 3 000 s - e
_h(d)'_ Speculation loss Rs 15 000, . -. Sl

© _:_"'_:Loss from short term capltal assets Rs 13 500 ER IR o

L Work out the treatment of set off and carry forward of losses

. Ss 5?&)&5 BODD DT 4%’ '%335&) Al 2015 16 emo?noeS .oon&)§ &sm"oti)ﬁo) ;5380‘1» é:geo |
-. (a) : Qc’geg)s“@g :‘),D'“exé‘rﬁ ePe}So ti)" 5, OOO = o .
SORN-S S°e3§ ERRE esoaso wome 8. 7,500.

o eo:mn avésnes e85 ) 5,000. |

@ *gg 56 TS e:ne;so 8. 5,000.

(o) . Yh Tyt eego 6 15‘,000.

3 R D (2203)



O
12.

" 'Fair rental value. oo
=Mumc:lpa.l taxes e e [
S Mum01pal taxes Were pald by the owner e
" . Ground rent paid R L UB,000
“Fire insurance premium’ . 3,4OQ

@ -

@

@
(b)
o
@

iy el esratio 8. 10,000,

?og.)“’saego’a 58 eswmato. 5,000,

rss ol eS’B Bisare0 B B0 emg"ss%x) S3pen, aaooae» :

.zoﬁti)“) 33"5@“6 ﬁ)qo (Zi)cﬁgoéﬁoﬁ" Eﬁwﬂo&:ﬁ&) &, 5 000.

DO aotéo Tl :63}0 &, 4,000. o

S&3een BaHO BXHS & 5,000,
90539 TS mo &, 15,000.

“oogoo)?é)é :nroqs:() &amo :6;\\0 8. 13 500

.?-.,oaazavwo 3% Bat 22000855 amg"’:o seg):s b%oéu 6§boéo&

o

CRe

. .3Mum01pa1 Value SR SRR S S o "_3-'-.7:"1.-1,_82,‘-0_00.‘_:-__.—, o
' Standard rental value R ":‘: _ L
B '_':"‘".‘._Actual rent recelved % house property Was let out j1 4_2,50_0_-__ L

Rent collection charges , : 10,000

' 2015-16 &2SB0080 eoobérgo'ﬁﬁ'a% @E:%&)QES K?)JG;O SO Eﬁéboéoé

g,

5000058 Deud S ~1,82,000
e 3 2608

e ©1,84,000

% S0ty Ry R o})éogc‘éo SR SXDD & 1,42,500

n}Xm#Dé@ @6 QeD R - 1,86,000 -
:11333?355 sm&m o 12%
o‘inas:fm&’) 23@@3;6& Z)JJR)roa}e'S— n):f)%len - - ' - 80% .

‘bg.oaéw;’b@g‘ S : - ~ . B,000

efy B0 Booano 3400

&R :béyog Fheo

10,000

1,84,000.

: Calculate mcome from house property let out ﬁcom the foilowmg data for the assessment year :
' 2015-16 ' . : . e .

- (2208)




14,

Explain Gross qualifying amount U/S 80 C of Income Tax Act.

TP Hay Beo 80 C KPs°8o "nlgea &5 ITOR DBoHHW.,

Or

From the receipts and payments given below for the year ended 31.3.2015 of Dr. Satish, a -

Receipts
To Opening balance
To Consultation fee’
To Interest
To Rent’
To Gifts from patients
To Operatioh fee

To Royalty on medical books

To Visiting fee
To Lecture fee
To Sale of medicines

- QOther information :

‘ med.lcal practitioner. Compute the professional income.

Rs. ¢ - Payments "~ Rs.

- 40,000 By Dispensary expenses  1,00,000°

1,00,000 By Books and journals 10,000
10,000 By Income Tax : 22,000
40,000 By Surgical equipment 18,000 .
20,000 By Medicines purchased 28,000 -

© 70,000 By Shares purchased 32,000
40,000 By Travelling expenses 24,000
40,000 By Telephone expenses 6,000
20,000 By Surplus . 1,48,000

8,000 o '

3,88,000 . : ‘ : 3,88,000

. (@) Depreciation on all assets Rs. 16,000.

' ) Closmg stock of medicines Rs. 10,000.

{¢) Travelling expenses incurred are related to pxlgrnnacre

il @éq&gﬁoééﬁ @v&xxﬁ He 0D oYY B0 31~03- 2015 Sol ?3“63 aﬁwi‘o‘?) 5@0@@ e

?’aooé D)8 estosrR) 6§bo:’>o&

DY & Bgoped e

‘To @0t Deg 40,000 By gzye08 pdope0 - 1,00,000

To SoEdoHe ﬁsw 1,00,000 gy DT> 24T HEed 10,000
To 3§ 10,000 By esgmasosh 559 22,000

Toep 40,000 By 5¥S sosres - 18,000

To 'i)"éxoég X)Joc%_ao?’.mfwéoen 20,000 gy zﬁobéiw ?&ﬁsén 28,000

To 53858 Do 70,000 By e §00R e 32,000

| ToaES Dise Trahd) 40,000 By safres ptyed | ' 24,000

To d28¢30R per 40,000 By 59255 pryye0 6,000

To &Sarsdo Hae 20,000 By 2o/t00 ' 1,48,000

o S0to0 eiyses 8,000 |
' ' ‘ 3,88,000 3,88,000
-5
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15.

16.

SHT) TEFTEAN :
(@) e eRop SN . 16,000.

(b)  Doode SfoY JE &5, 10,000.

©  ES0re e, SgarEBe S50 3.

Compute capital gain or loss from the following information for the assessment year 20 15-16 -
Date of purc'hase of building 1.6.1987. -

Cost of purchase of building Rs. 2,75,000..

Date of sale of building 5.3.2015.

Sale proceeds Rs. 30,00,000. |

Commission on sale of bujldings 13%.

CLIL : 1986 ~ 1987 = 140; 1987 — 1988 = 150; 2010 - 2011 = 711; 2011 — 2012 = 785;
2012 - 2013 = 852; 2013 - 2014 = 939; 2010 - 2016 = -

2o errry) Bue iRy 2015-2016 50063 Bon 108 9507 T BE0HHN.
Ry SoRen D% 86 1-6-1987 |
255350 G0, 96> & 2,75,000

55 ey BB 05-03-2015 -

BB DD 4. 30,00,000

2550 eBysop 52055 11%.

C.LL : 1986 — 1987 = 140; 1987 — 19388 = 150; 2010 ~ 2011 = 711; 2011 — 2012 = 785;
2012 — 2013 =852; 2013 ~ 2014 = 939; 2010 — 2016 = ‘ ’
' ' o Or

Compute total income of Mrs. Srilatha, an Indlan resident of 30 years of age for the current
assessment year:

Gross salary Rs 86,000; Short term capital loss Rs. 10,000; Income from house property

" (Computed) Rs. 20,000; Long term capital loss (Buildings) Rs. 12,000; Income from profession

Rs. 5,000; Interest on securities (Gross) Rs. 4,000; Income from government securities (Gross)
Rs. 18,750. She donated Rs. 5,000 to P.M. National Relief Fund and Rs. 2,000 to the Prime
Minister’s Drought Relief Fund.

&8 §oB 30 Son By egocsefeo:p o, & mé_;gg sy (538 RS0 _:m@ac%:ﬁ
B)0%08. :63;@ ééoﬁa‘ 86,000; B0805085 Kq);’rsg&a eseaDo 830, 20,000; J5oysds Dorvedsd
“50 55.10,000; B0 Soress ergisor (8mren) & 12,000; B8 H0d ewmafin 5,000;
28BS0y 58 (3p0) 87°. 4,000; 208 [Selsgnsm 8o 3§ (dgo0) . &5 16,750. e
85°. 5,000 (S5 Soo® Bk 68 605 2,000 HE S0 $55 DB JTE cwoTo. '
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. Ixplain the features of VAT.

VAT Buog); o¥erodd 938035086,

Or

Explain the procedure for valuation of Taxable Services.

SR80 0B oy DI Tk, SrenOEd TR J560HH0.

=1
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(2203 MO)
B.Com. (Gen) DEGREE EXAMINATION, MARCE/APRIL 2016.
" (Regular) |
(Examination at thé— end of Second Year)
o Part 1T
| TAXATION —11
(Regulation 2013-2014)
‘Time : Three hours | | R E ' . _ Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)
Answer anj FO-UR of the following.
1.  Taxevasion énd' Tax avoidance. |

5t DB SoB0 iy WS Bo0d SRS,

2.  Salient features of Wealth Tax.
BOBE By BE o¥Teo.

3. Eﬁtertainment allowance.
oYt 2}5@232333.

4 Deductions U/S 24.
U/S 24 |Ss°8o BfjodHen.

5. - Rates of VAT.
e eT6s S5y Be.

6.  Define depreciation.
HEOGO[ DELDOH0.

7. Types of central excise-duty.
T2yE oo’ Ees.

8. Due dates for payment of Service Tax.

e 535y DO Kebod Blev.



SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit:
UNIT I |

Which of the following incomes are taxable when the residential status of Mr. Umesh is
"(a) Resident . . ' '
(h) . Not 'ordinarly resident

(¢) Non resident.

6
(i)
(i)
(iv)
®)

i)

(vii)
Mr. &505

Income acérﬁed in Canada but received in India Rs. 2,000.

Rs. 5,000 were earned in Africa and feceiye& there but brought to India.

Rs. 5,000 earned in India but received in Canada.

Rs. 10,000 earned and received i in SrllanLa from a business controlled from Indla
House property income (computed) from Snlanka Rs. 2,000.

Rs. 4,000 was past untaxed foreign income w}nch was broucrht to India durmg the
previous year.

»

Profit earned from a business in Kanpur Rs. 10,000.

| (2) r'aﬁa_aos |

() o5 eagzéé BNG0S

© =53dB0S DowITB B0t BIVS D excrairen Shyel 68 epEran :

®
(i)

(i) -
(iv) -

™
(vi)

(vid)

35" 502029 e &7 2,000 FrEE0s" gBosadon.

sRPTS’ ©809 558095 ecsocmo 8. 5,000 a:socséamg Bados.
PUECEST esGodd K. 5,000 esrano “s:scsees“ eocgéﬁoéaa&oﬁ

B0 zaao_a 3)053013306&)6&3@326& @ooges% T80 008 o¥,B eod J5¥Bod
eseroo0 8. 10,000 ' |

%@oé 200é KQ;’J‘&?J oo esw*oﬁoc; (KSoB2d08) 8. 2, 006 '
@&35685'5 Dowes® essoazs 559 Do Tms0 85 4,000 wdééremﬁ Badod
926535635.‘0 2.5 TR0 1308 ©PodS ergo &5°. 10,000, -

Or

2 (2203 MC)
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Sr1 Bharat Bushan a re51dent individual and'an Indian Citizen gave the following
particulars of his assets and Liabilities as on 31st March 2015. Compute net wealth for the
assessment year 2015- 2018.

(2)

®

©
(d)

(e)

®
(g
()

House valued at Rs. 15, 60 000 which is s1tuated Wlthln the municipal ]_u:mts of Pune A
and let out for 280 days

Urban land acquired on 1.7.2006 for Rs 18,00, 000 for 1ndustr1al purpose but lymg

‘unused

Cash in hand Rs. -45,000

Jewellery purchased in the name of his wife on 16;3'.2006 Rs. 26,00,000 and its value on
31.3.2015 is Rs. 30 00,000 '

Residential house purchased at Delhi in the name of married daughter on 15 6.2012 for
Rs. 18,385,000 :

Share in HUF as co-parcener Rs. 4,10,000
Two motor cars each valued at Rs. 3,75,000. One of them is used for hiring business-

Flat in Bengaluru for Remdentlal purpose Rs.-20,50, 000

& 558 o Bor¥); DT Fpow DD 2B B> IS 260ch 31, ;smaa 2015 3 o5 e,

P Ss1808 DERIM Lo, (S386 58y arg;esea StNT08 0BD DSS BoBEH DYDY,

@

®)

©

@

T IS poeE oo S66S° HySo0 GBoo¥), Dend 8. 15,60,000 820 280 Sered

RSIGREI0.
. =

1.7.2006 3 EEPO0E TEESHL0 Diges 0S50S 8. 18,00,000 0% Feisate Fofes

B89 7B RO TEEBD.
DS HKE> &, 45,000.

16.3.2006 % sy Dok esifemiivomy 7. 26,00,000 o FHi'es T, T 2003

| 31.3.2015 & 30,00,000.

©

®

®

()

15.6. 2012 % STEES WKY PIBIN 63 et DD §§ HENS’ TRoRes :-3“35
Ay &7°. 18,865,000

oI DL ¥rea0025508° X)e;’néém o5& Toer §re. 4,10,000.

Bocky BIerd S0 Soh. B8 TR Desd & 3,75, ooo TS 2¥ 0 @Eﬁb ascg;@ '

TysE0ns’ Fd&dﬁ.};joéc@
BoKFTEHS® VT Z K@ 2$HBB0 e, 20,50,000.

3 B ‘ | (2203 MC)




11.

UNIT-IT

Shri M.M. Joshi is working in a limited company in Varanasi (population 12,12,000). His
salary particulars are Basic pay Rs. 10,000 p.m. DA Rs. 2,000 p.m. CCA Rs. 1,000 p.m.
children education allowance Rs. 600 p.m. per child for 3 children. HRA Rs. 4,000 p.m. (rent |
paid is Rs. 3,500 p. m. ) Entertainment allowance Rs. 1,500 p.m. during the previous year in
the last three months rent free accommodation is provided in its own building instead of
HRA. Compu_te the gross income from salary for the current assessment year. ’

3 MM §9 5695 (warer 12,12,000) of 0086 Lonhs® a6%A B S65m Ghok
& 5° ‘ S 3

DITENEY [FO BB, WreSEHI &, 10,000; ¥ g0 G 2,000; SRS S

50 6. 1,000, SOETRS DI PO (5O DrES (58 SIWSVHD & 600 Ty KarK

2908, w08 @] PEgn K. 4,0005 (58 SN0 3P0 ef K. 3,500; aF°E g
&7, 1,505 1% So5gy55n $00 538 S0 ATTH00H R0 € FEFPNILH piherr o B9,
SOBR B0 508 PHTH0S® Domewn BB, (S Iy ¢ Reen BoREyTOs a?’éééco 008 eacsnos.am:so
B8),0:H30.

Or

Smt Rama Devi Central Government Employee received the 'followring emoluments during

) the previous year 2014-2015. Basic pay Rs. 35,000 p.m. DA Rs. 15, 800 p-m. Entertainment

allowance Rs. 6,000 p-a. She received education allowance for her daughter Rs. 1,000 p.m.
but actual fee is paid by her mother-m law. She provided the following for her personal and
official purpose :

(a) .. Laptop costing Rs. 50,000

(b) Small motor car and employer pays all expenses | including. driver's salary
Rs. 10,500 p.m. Her contribution to SPF is 12% of salary and 10% by the employer.
Interest credited in P.F. @ 8.5% is Rs. 3,200. The employer presented gift worth
Rs. 11,000. Silver Articles. The employees paid club membership fee Rs. 13,800 for the
benefit of assessee and her family members. Her payments :

()  Professional Tax Rs. 3,200
(i) Advance income tax Rs. 20,000
@iy TDS from salary income Rs. 18,000

 (iv) Repayment of ‘house loan Rs. 72,000 (ihclgding Rs. 1;‘?,000 interest) income from
other sources Rs. 20,000. ' ' '

Compute total income for the Assessment year.20 15-2016.

4 ‘ (2203 MO)



13.

8 83700 Jo HEbdy &8RO 2014-2015 KB SodEBHntH ©oG AgEBoad BEse

JS5BJ0en S Lééa .&'Jﬁ,ﬁé.)m” o) SarrenEHB0 5 SRR . 35,000. 555 gfagsn (56

AT & 16,800 DSV 255550 VoDBBRNBL &, 6,000. @D ErBBE (B WrHIW

. i,OdO TEp a)wée_ﬁé‘szgm SPOBR). B0 e JBD eDE BT Bg'go%éo. ess

HEHBR0DD0 50605 @SS D00 DEGFH BIOS BODRD Joryen Dobad. | |

(@) . 50,000 285 Ko erberd

(b) - 0% Dorerdo 598 AHGIERD. @;’)Ci).eéé’sm 5O BEE0% &, 10,500 Sigps 20805 ey
PE0 AT DYOIR. FITEE aﬁaaéacéé & DY0DH 12% 0805 eI 3YodRa
10% F230BS° 8.5% S @RS B 3G e, 3,200. AeiTR K, 11,000 25 Ko Dod
S TROYT DY, iy BBy o &woe; S0 @t §63 8. 13,800
Derd DY, @92 3YoHeo | |

H B 535 8% 3,200
@) Swotre 2900 STOLY ;’am&tﬁf 20,000
d)  Bsan Dood Burrednd® BRoswdS Sby 8. 18,000

(iv) M DOREB0RE BSOS Bip SBR BYodsA &, 72,000 (3§ & 12,000 0F° $3)
BB 550 Fo0& STRAHD K. 20,000. 2015-16 Fdy DEves SoDETDS WoBSD
ST Head Bk

UNIT 11X

From the partlcuiars given below compute income from House property which consists of two
independent units. havmcr 1/3rd gand 2/3r area : :

Municipal taxes

- Fire insurance premium

Grou_nd rent

Interest on loan

Date of completion- 1.11.2009
| Municipal rental value Rs. 96,000
Fair rental value Rs. 84,000
- Self occupied 9/3d portion _
- Let out 1/3xd portidn from 1.4.2014 to 31.8.2014

@ Rs. 7,200 p.m. and self-occupied from-
1.9.2014 onwards

Rs. 6,000 P.A.
Rs. 2,000 P.A.

‘Rs. 4,000 P.A.
" Rs. 7,500.

5 - _ (2203 MC)
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2/3 éééo; 1/3 Sodore 3od D& errrenrr &) 2.8 Kg‘:ﬁéé 50208003 9300w Kpoc% Kq)?’.ﬁﬁ_)o STA500

B8),09R0.
fiq)&’)s “OU"&S@ 88
: ﬁ»ﬁbég DD
QIDED &0
- Qs o
Qg0 dTEHo

©B89y58

“SoodysS Shgeo
Ry B
[rof &g

2000 S&
i1

1.11.2009

8. 96,000

&. 84,000

2’/3%065 _

13 o 142014 ol 3182014 586 Tk
&r. 7,200 S3p% 638y 1.9.2014 Mod B0

DTRBNT TEEI0VTHE-

8. 6,000 .

. 2,000

8. 4,000 -

8. 7,500.

Or

From the following recelpts and payments of Dr. Good luck for the year ended 31St March
20 14. Calculate professional income. .

- . Receipts and Payment account for the yeax: ending 315t Maxrch 20 14,

To opening balance
To gift from patients
To visiting fees

To consultation fees
To surgery fees |

To interest on bank deposits

- To interest on securities

To 'dividend received _
To loan from Andhra Bank
To sale of medicines

To income from house property

Rs.
72,000

1,65,000

2,32 000
3,56,000

4,25,000 .

30,000
27,000
18,000

5,00,000

4,26,000
60,000

23,11,000

7 , Rs.
By staff benefit costs . 4,80,000
By nursing charges ' - 1,50,000
By purchase of medicines 3,44,000
By LIP 7 60,000
By draWings ‘ - ' 50,000
By purchase of surgical equipmént 3,20,000
By car purchased 4,50,000
By electricity o " 1,20,000
_By income tax . . 33,000
By house hold expenses 84,000
By car fuel e.xpens'es A 60,000
By balance ¢/d e ‘ 1,860,000
' 23,11,000

(a) - 60% of car expenses spent for professional purposé.'

(b) ~ Provide depreciation on car @ 15% per annum.

6 ' | (2203 MC)



31 5576y 2014 Dr. /808 76 saken. BYoHen FE° 203 ©BD eTrairB BB :

Soe8y 31, 2014 éoéégc“oé;’mé mmcﬁaw,,b@o@e T

:):&Iﬂqig) 7

~ To @y Deg |

To Haioey 5008 TVRBI

To. DestdoR Hew

- To 5;6“)@:15 3)3?

. To g8 S

- To 27508 Gareend 5%

| TopErpdSy sd

L To 89808 -

To é&o@" 23°§0§) 0o ey

To EDS eééo&?w

‘To K@E’JBE)D 2630& L9TOIR0)

eacS:é‘:g) o

5.

72,000
1,65,000
2,32,000
3,56,000
4,25,000

30,000

27,000

18,000
5,00,000

426,000

60,000

23,11,000

(2) 60% s°60 PN éq)e"é DB a.')ti)a D&

3801905 -
By-‘ggﬁ BoDS Py ‘ 4,80,000
By 5y0R 9800 150,000 -
By 20855) §x0f e 3,44,000
By LIP 60,000
By roth ToCisrey | 50,000
By égge‘s' 35553305 SoRtey 320,000
By s S0 ~ 450,000
ByowsSng 1,20,000
By sora' Sy - S ‘38:000
By mo3 80 o 84,000
By st mosd pdppes . 60,000

By 8&y0 dog o 1,60,000

- T23.15,000

() S SO 15 wE50 n)oéé“)do?{)g) Smprs Bsoo.

15.

UNIT IV

Mr. X received the following gifts during the _previm.is year 2014-2015. Compute his taxable
income under the head “income from other sources”;

(2

(o)
©

()
@
®

Received Rs. 1,00,000 as gift from Y (friend) on 1.6.2014.

Received a microwave casting Rs. 14,500 as gift from his another friend Z.
.Received Rs. 50,000 as gift from another friend Amrit on 1.11.2014.
Received Rs. 30, 000 as gift from his sister on 1.1.2015.

Received Rs. 40,000 as gift from his friend Mr. D on 1.12.2014.
'Recelved Rs. 1 60, 000 as gift from his non-re51dent frlend on 1.2.20 15

7 © (2203MO)




CMr. X §o8 wimsotiom 2014-2016 So5EmRE roBmt. 83 D950 o8 emdbo 908
B0t 0B Sy HBADID SrrasrR) B8 080, N
(a) Y (proco) 3008 Sayd S &, 1,00,000 1.6.2014 8
(B 5088 YIrHoth Z Hood seRosme 87, 14,500 WIEDS Zrobmiy
(©  1.01.2014 % 9208 $o08 8. 50,000 SHET SroBcd
@ 8 2% %006 1.1.2015  &m. 30,000 S8 0BT
() 11220143 Mr. D o $p2raon £006 &, 40,000 SHo8T Sro8wei
®  ES B RIrEed 2008 1.2.2015  1,60,000 SRS SroBmrd.

Or S
16. The following are the particulars of income and loss of an individual under different heads of
income. Set-off losses in the assessment year 2015-16 and find out the net result :

Rs.
Income from house property A - 5,000
Loss from house property B (—) 8,000
Income from interest on securities 20,000
Loss from a cycle business (=) 20,000
Profit from speculation business 20,000
Loss from short-term capital asset (=) 6,000
Long-term capital loss =~ . | (~) 25,000

. Long-term capital gain (investments) - 21,000
T 2D esmeosd %’850 L§o&5 2.8 9& 3588 Ha® a0 /D% 25T BHD &’)éogaa&:ﬁéo T3 esrysore
2015-16 exaa00ess eso 26%@2{')0 8 D 0EY $OTPY BeoHsw.

. &,

ER8ayS Y Mool emrabisn 5,000

| 0% DTS Ky el 206 SgPn - () 8,000
Deyeed 5 | 20,000
23S osemo H06 Do () 20,000
WEsBES TR0 006 ereso 20,000
SO eyl oo () 6,000
B859% Deygad dipen (-} 25,000
Esgsvég Deyad oo | 21,000

- UNITV
17. - What is the Service Tax? Explain the rate and charging of service tax?
0D By @I I0? WHeP 9§D 5:59) Bew, B0 5ESR AS80B0E.
: Or '
18. Explain the features of VAT.

VAT &%), o¥eroo 9580508

8 - (2203 MC)
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B.Com. (Voc) DEGREE EXAMINATION, MARCH/APRIL 2016
| (Regular) -
(Examination at the end 6f,Sec:ond Year) |
Part 1
INCOME TAX PROCEDURE AND PRACTICE
(Regulation 2010-11)
Time : Three hours | 5 ‘Maximum | 70 marks
R SECTION A — (4 x 5 = 20 marks)
Answér any FOUR of the following questions.

1.  Explain Income features.

ezeey ofsrei ID8odHaw.

19

Capital expenses Vs Revenue Expenses.
Borregdo ddodHe Vs trad dgoHen.
3.  Explain Indian Income and Foreign Income.

2PSEHOD BTraDo BB80H SRR wEdhHo IDBoFHHN.

4. Partly Agricultural Income — Discuss.
28 S5O0 STRADO HBYORIB.
5 Wr'ite a short note on TDS.
DS % K080 2.8 oo g ORI,
6. Discuss the powers of IT Officers.
IT 08580 G, 9B5TeRo 500308

Write a short note on Deemed Incomes.

'-1

S estrdirreds 080 H38opHH.
8. Various types of Assessments.

5y oSS Ssrord 3380HD0.




10. -

11.

SECTION B — (5 x 10 = 50 marks)
Ansﬁer ONE q’uestioﬁ from each VUn'it_._
UNITI

Define the “Capital Gain®. Discuss the procedure for computatlon of cap1ta1 gain as
prescribed by the Income Tax Act 1961.

DePRG ergroRy R)éog&o@én. erraf) S3y Byo 1961 &° R)'g%oaé Depad ergredy BE09

DTTRY HBGoDHRN.

Or.

Mr. B, a married citizen of India left for Germany for the first time on 15.9.2005 on a
business trip. He returned to India on 5.6.2006. During his absence from India he
maintained a dwelling housé for himself in Calculate. What will be his residential status for
the assessment year 2007-08? |

Mr. B zr¥&chot asd dwsardr aged 8o 15.9.2005 & afd 3¢ 5.6.2006 I

wééa‘é‘cﬁwééa BOADD. PB o)éjcl 30"&58@’ Sol: 8o 2007~-08 § BBY AT (DSISD @ébo{éoé

UNIT II

Mr. Krishna a residential individual submits the following particulars of income for the -

prevmus vear and March 31, 2007. Dividend from REC International Ltd. (Grdss) is
Rs. 4 800. Dividend declared on 16.5.2006 by Sundaram Finance Ltd. Rs. 2,700 interest. Paid

on capital borrowed for the purpose of investment in shares of Sundaram Finance Ltd.
Rs. 4,200. Collection charges in respect of dividend Rs. 50. Winnings from lottery : (net)

amount Rs: 69,400. Tax deducted at source Rs. '30 600.Winnings from card games Rs. 23,500.
Interest on securities issued by the govt. of Smdapore Rs 20,570. Determme the income
chargeable under the head-income from other sources

31.3.2007 &° eoBtoonsd JodEsans® Jowofod BIGCE eﬂ':\;n)%fa wond § HA SO
3:56"@0&524'5'&3;1&53 REC 82088 mo&' BorBo0d Jo Gomo& &r. 4,800 16.5.2006 & Roodto
Py OBE T Lagefsoa:) &B0& 2,700. Booisso Py BES® Trures FRon%H SEAL
eacoopa) 58 4200 &é’)aoﬁ ST gpeﬁoae}o 50 &, ereads’ ﬁ@a;s (:oges) 20080 - 69,400
S, S3EE B 30,600, HeHES® REDS Dngsn &, 23,500. Hoeb [Havdze T &b

B2 Deywtoop 55 K. 20,570, 388 5350 2008 eTralrRy 8,008,

Or

Ix2
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The following details of income have been supplied by Kartha of H.U.F. You are required to
compute the total income and tax of HUF. It has deposited Rs. 30,000 in PPF.

(a)

(b
{c)

@

Profit from business Rs. 32,000.

Salary received by member of HUF Rs. 8,000.
Director for received by Kartha Rs 12,000. '
Rental value of the property let Rs. 18,000.

Municipal taxes Rs 800.

Bank interest Rs. 950.

Long term capital gains from the transfer of building Rs. 19,500.
Long term capital gains from the transfer of investment Rs. 20,000.
Donations to a college which is an approved institution Rs. 7,000.

Profit from a firm assessed as A.Q.P. (1/4 th share) Rs. 15,000.

s (508 DITe0 2.8 SroEr waYY Henowodtd K55 ewrdh 990w BAGREND. DJoyedy rods

02458 Henowo Bk InGo oo HoBan [y B omwe §6EHos. PPF & GaresS

3258 &5°. 30,000,

(a)
()
- (©

(@)

(e)

®

i (h)

)

)

TS0 2o erafo 80, 32,000

HUF 550509 $305° &% S0 8. 8,000

555 B5 A3 2856 e Kv. 12,000

B8ay0 & &7 Dass 5 18,000

500056 .;’3:6001&3 5. 800

o> 5& Gom. 950

555 TGS T Sy Elgsvéé Sarecsd ergres 8. 19,500
33%)23@@ SrGE wrgoe HaD 5£§@§ Lredd araréo gre. 20,000
B0 08D PO @0 g@?@&) [N ERRS & ?,OOO

AOP 17 &3y Baerds S0 08 &0 (1/4 Soss T4 &7°. 15,000

3 ' | (2602)




13.

14.

UNITIII

X, Yand Z are partners in a firm which satisfies the conditions of Sec. 184. They shall proﬁts

n3:2

(@
(b
(e}
@
(e}
0

®

: 1. Profit of the firm should a net profit of Rs. 1,20,500. After debiting followmcr :
Salary to Z Rs. 5,000.
Rent to X Rs. 8,000 for using his buildings.
Interest on caliitél 10% is X = Rs. 2,000; Y = Rs. 4,000; Z = Rs. 6,000.

Commission to Y Rs. 2,000.

: Expehses on répairs of the business premises belonging to X = Rs. 2,000. '

Donations to approved substitutions Rs. 6,000.
Net profit includes Rs. 20,800 from interest on govt. securities.

Compute total income of the firm and also partners income.

Sec 184 @), DROLHOR VoD 56D 2.8 VoS X, Y HoBan Z e e;omm T ooy 3:2:0

DEBS® HoRIKI0ERED. e 308 TSR Be0eS BAHIT Fog B, erdfo 1,20,500.

(2)
)

(.
(D)

©F

®

®

7 ¥ R%0 5. 5,000

X @gb 3550 m&gm&ocsm ©528 DYoo &g 8. 8,000

10% S5p% B0TOLHOD 3¢ X = 2,000; Y = 4,000; Z = Rs. 6,000 -
Y % ¥2058 8. 2,000 |

X 5 DoBRH et (roresnnd Bopoy PEpes & 2,000.

HoBo%) 208 HoEH adyD ERIS 6. 6,000

BSOS co§5°§8e5em 5§ 6. 20,800 288 oo ¥8D 408,
Or\) FE), g esz;s“otbo 28ain e,rr‘%oe) diooéb. eﬁmotiﬁoﬁoo @ébo{&)m

’Or

P, @, R are partners in PF AOP whose profit and loss a/c is as follows :

Particulars Rs. - Particulars Rs.
To Manufacturing exp. | 4,500 By Gross profit : 25,000
To Establishment exp. © . 3,000 By Interest on securities (Gross) | 1,500
To Depreciation 1,500 ‘
To Sundry expenses 2,000
To Salaryto P - : - 3,000
To Commission to Q 2,000

4 - - (2602)



- To Investor capital :

P

Q
R

| To Net Profit :

P

Q
R

500
1,000
1,500

2,500
2.500

2,500

Compute total income of firm.

3,000

t:-:l
ot
o
>

26,500

o
&
AL
o
o

© - PFAOP &° P, Q 5580550 R o0 gegenr™ &, T8 orf $ipe ree 83§08 d5ore &of.

EopsTalob)

To &¥d BN
To. 355% P
To B
To D0 a)éﬁ.;am
To P& o

To @ £ £058
To moaszsd';.g b

P

Q@
R

To 888 eé0 :
P

Q@
R

S0y S, InBo eEmabo B&0HI.

500

~ 1,000
1,500

2,500
2,500
2,500

Ee ooen &
4500 By 3po edgsres 25,000

3,000 By j‘owéae%@:‘?_éé o 1,500

1,500

2,000
3,000

2,000

3,000

7,500

26,500 26,500

UNIT IV

15. Explain the deductions U/S 80 C, 80 D.

| /S 80 C, 80 D @0, Bfopesd 9980508.

Or

(2602)



16.

18.

Discuss the provisions of law relating to filing of returns.

000D Sy 6@5&&) TR0 DAhErag Ko TR DEWR 0TYRD, DALBI R 9380B0d. |

UNITV
Bring out the fully exerﬁpted incorﬁe‘s under the Income Tax Act. .
SErA) D:Y) D90 [B5°80 Frr Sy 00k WBIFaoBRED STrciTeR By,
or |
State the provisions of law regarding set off and carry forward of losses.

D30 HB D 200K ST LIRDW Mo BeBERD DB 0B HHB0YHN.

«

2
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B.Com. (Voc.) DEGREE EXAMINATION,
MARCH/APRIL 2016.

(Regular)
(Examination at the end of Second Year)

- ADVERTISING, SALES PROMOTION AND SALE_S .
 MANAGEMENT o

| ‘ (R§gulation 2010-11) . .
Time : Three 11;5L1rs | R Ma:ximuml 270 marks\
| SECTION A m (4 x 5 = 20 marks)
| Answer any FOUR of the following.
1. Electr;)nic media_._' : |
2 - Media planning.

. 3. Press conference.

4. Communication effect.

5. Talse claims,




= jﬁNIT‘I'Ii-', |

Advertising department.

: Explam dlffelent - mef;hods for measuring
o . e effectweness of advertlsmg '
S Exhlbltlon and Mela : :

i Or

' _SECTION B = (5 X. 10 50 A Wnte about pre testmg and post testing.

' Answer FIVE of the fo]lowmg questlons.selectmg_.OND UNIT v

questxon from each Umt o

What 1s X adve1t151ng agency? Explain its

UNIT 1 o o .-__lrnpmtance

e What is advertlsmg‘7 Explam 1ts mam obgectwes A

__ 16. :'-:.What is the role p}ayed by adveltasmg agencies in
G adveltlsmg a product"

. '\

St What is. mecha‘? Explam about dxffelent types of : UNI-TV :

S AT Explaln the mgamsatwn patterns and functlons of
© UNIT II e S adveltlsmg agencles

11,0 Write . about . media *: planning _and " media = - ; _ _

R S analysmg an advertlsement of competitors.

Lo 12, _' _What are the factors mﬂuencmg the chome of A _ _




| (2605) N
B.Com. (Voc) DEGREE EXAMINATION, MARGE/APRIL 2016.
o  (Regulan :
‘(Examinétion at. the erzhic_lof Second Year)
| O Panl -
WEALTH TAX AND SERVICE TAX (PROCEDURES AND PRACTICE)
(Regulation 2010-2011) | |
-Time: Three hours | ‘ . - - Maximum : ;/O. mari;s
SECTION A — (4 x 5 = 20 marks)
Answer a;rly FOUR.of the fbllo‘wing.

.- 1. Define valuation date for purposes of Weali-th_ Tax Assessment.

B0RE iy DD Barergosd BE OITHR?

Explain the features of Service Tax. |

.l\'_)

© e 55y G0, OEEFER0 [FRahoBw.

3 Expiain Deemed Assets.

DB e D500,
4., What are the main features of Wealth Tax? _
L D0nes Sy @, Swpy oferes DRs?
5.  Write a note on Service Tax Administrative Mechanism.

o Sy $030T ooy D5B0B08.
6.  Explain the classification of Taxable Services.

Sy 2PovT Ve HPESE 2HB0HI.
7. What is meant by the term “unbalanced”. Under Wealth Tax Act?
BOBEHRY B0 Syearoo eRmAN? |

8.  What are declared Services?

BE3% @0l D287




SECTION B — (5 x 10 = 50 marks)
UNITI

Explain the dsductions permitted from gross Wealth for computing Net Wealth.

- sgé D050 8,088 Mo 5058 108 BeD T80 29800, |

10.

11.

12.

Or
‘What is the Service Tax? Explain the rate and cﬁarging of Service Tax.
e 5%y SRTE? LoD 260D Hiy Bedd 9980508
UNITII

Explain the provisions of the Wealth Tax Act which allows clubbing .o(f net wealth belonging

- to others in the net wealth of the assessee.

SRRy B, DES BOHES BB G0 FocwE de0EBoR0 K80 SO Sy Sa DAHBFE?

Or

-Kumar gives you a list of his assets and liabilities for computation of Wealth Tax for the

Assessment Year ‘7009 10 the valuation date being 31.3.2009.
Rs.

(a) Residential house in Hyderabed 45,00,000

(b) A farm house : 10 km

away from Bangalore ‘ 12,00,000
(¢) Aircraft for personal use ©95,00,000
(@) Cars for personal use | C o 18,00,000
(e) Jewellery , 8,00,000

(® Unbalanced (construction is not ‘

- permitted under the law of the state) 22,00,000
(g) Cashin hand ©60,00,000
(h) Loan taken to purchase aircraft 53,00,000_

Compute Wealth of Kumar.

| 5355°5 Bood), emrah 2900, $f) BEPe VIBHNO e 308 DForT Eama. 2009-10 So1DS @B

BOBESBYR BYY,0HBIW. Borrergod B8 31.8.2008.

&
@ pssmsze o 4500,000
®) Borurs 1086° Er+60s® &) @88 o  12:00,000
(© 2rom0d iz donbiEge 95,00,000
@ 2romr08 Thtor) & 13,00,000
(@ o etered ' © . 8,00,000

(LN
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13.

14.

15.

16.

18,

® SINEERAV '

($e30 (55750 Hoyerdd wodo@osod)  22,00,000

(8 Bas® s | © 60,00,000
®  JonBisege Froftesg dg aveo  55,00,000
' UNIT III

Deséribe various exemptions allowed under the _We'alth Tax Act.

BB By BE0S°D WLTFPWoYHORO HHBOHIN.

Or

Act? _ _ g
04 59y B0 (H5°50 Btk Bo0H Bowoodd BSITrYR JS0HHD.
UNIT IV
Give various examples of taxable services.
5%, DBoBed D3O 5B0HD.
Or
Explain the registration and assessment procedure of Service Tax.
B 526001 AT DB DoBoy 5%59350 D_BoHR.
UNITV

Write a detailed note on Service Tax Administrative Mechanism.

LT SRy SBreme aboErormy 938090,

Or

What are the contents of the Service Tax return?

e 559 8L S*R wowB?

Describe in brief three offences for which prosecution is prescribed under the Wealth Tax

(2605)



(2606) | |
_ -B-Com._ (Gen/Res/Voc) DEGREE EXAMINATION, MARCH/APRIL 2016.
| (Regular)
| (Erxamination at the end of Second Year)
Part — I
BUSINESS STATISTICS
(Regulation 2010-2011)
Time : Three hours o - Maximum : 70 marks
SECTION A — (4 x 5= 20 maiks) | |
_ Answer any FOUR questions.
1. Define statistics. |
Heaeo¥ 32grd) DEGDOWDN.
2. What is Questionnaire?

BN SSTRR0?
3.  Define correlation.

VP00 DEDOV0G.
4. - Define Rarige.

TR0 DYDOBOE.
5. What is skewness?

DS e¥TRN?

6. - Explain Laspaer Index Number.

SRYOADE K37 Boglhd D9BoH.

" SECTION B — (5 x 10 = 50 marks)
Answer any FIVE selecting One from each unit.
UNITI

7. Define primary data and éxpl‘ain its sources.

- [FREE STroreR) DEG0D T BnE); SR Kr8) 958oBod.




8.

- 10.

11,

12.

Draw a Percentage Bar diagram.

Production Expenses Firm X FirmY  Firm Z

Raw Material - 20 40 25
Wages ‘ . 0 1w 10 -
" Direct Expenses 3 .5 10
Indirect Expenses 2 5 )
35 60 50

5% o6 Sergy AcHod.

e sgoireo o X BoyY %03 Z

L10E B 20 40 25
B e 10 10 . _10'
Sosy Sgatrey 3 5 | 10
55% vgires 2 S 5
35 60 50

" Calculate Harmonic Mean.

BREBGB0 B;0%080. .
' ‘ Cl: 0-10 10-20 20-30 30-40 40-50
f: 5 . 10 7.3 2
Calculate Medié.n.
25355?{@‘@& @gb.o{ﬁo&.

C.I:10-19 20-29 3039 40-49 50—59 60—-69 7079
fir 14 20  42 54 45 18 7

UNIT 11T
Calculate C.V. |

- DB .ffbfeaS"&)o)‘ B§),0508.

CI: 0-10 10-20 20-30 30-40 40-50 50-60
f: 6 10 12 21 13 8

, Calculate Kaxl Pearson Co-—-efﬁcient of skewn_ess.

58S DODGS Py HoesRy B8),0508.
CI: 10-14 15-19 20-24 25-29 30-34 35-39
£ 8 10 20 3 18 4

b2
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UNIT IV

13. Calculate correlation.
DFRouoodn B8 000k,
| x: 69 67 72-638 65 68 66 69
Vy:_68 71 73 68 64 69 66 73

14. Calculate Rank correlation. : - _
RankA: 1 35 35 2 6 5 8 8 7

| RankB: 2 4 3.1 5 6 75 9

£°%3 SrS0m0¢ Koe¥ord B8 0N08. _

wgofA: 1 85 35 2 6 5 8 8 -7

[de)
-3
o -

oo§B: 2 4 3 156 15

UNITV

15. Construct Fisher’s Ideal Index Number. )
-Item  Po qQ P11 Qi
A 10 30 .14 25
B 6 50 8 60
C 4 60 6 40
D. 2 100 4 125

328) et S Boags dG0B0s.
DhHen Po q pr @
A 10 30 14 25

B 6 50 -8 60
C . 4 60 6 40
D 2 100 4 125

16. Calculate trend values by last squares method and estimate the sales for the year 2001.
Year : 1992 1993 1994 1995 1996 1997'7 1998 1999 :

Sales: 120 124 133 132 146 143 158 156

S5 50 BED [5E Devdoio SRA"D 2001 BoSEYTHE BiyEes BoST Sdbod.
Soisthysass : 1992 1993 19941995 1996 1997 1998 1999

esyses: 120 124 133 132 146 143 158 156

8 - S (2606)
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-B.Com. (Voc) DEGREE EXAMINATION,
' MARCH/APRIL 2016.

(Regular)
‘ (I‘Exémination._at' the end of Second Year).
PERSONEL SELLING AND SALES MA'NAGEMENT |
(Regulation 201{)'—_11) '
“Fime Three hours ' . Maximqm : 70 marks
SECTION A—(4x5b = 20 marks)
Answér_ any FOUR of the following.
Define persdnal selling
ATDA model of selling -
| Buying motives '
. Sél]ing funcfioné
szpes in éonsumer markets
Sales manual.

* Types of Sales person.,

e A

Post sale management.




SECTION B — (5 X 10 50 malks)

Answer I‘IVE of the followmg questxons selectlng One

- 10.

e i UNITI

questmn from each Umt

:-_Explaln the nature and 1mp01tance of personal.'-_ﬁ e
o _sellmg ‘ S :

. personal selhng

1L

12

UNIT H
Dxplaln d1ffe1ent types of se]lmg mtuatmns

Distinguish between' consumer market and -

© - industrial market, -

13,

. 14,

UNITIT
Write ahout-the process of ef_fec_tiva_. selling. e |

_0.1?'

-Explam about plesentatmn and demonstratmn

g (;;1*.f;_. (2607){;_;Tafﬁff}gf'

erte the advantages and dlsadvantages of T

' in selling the products?

oy

e 15What are the essentlal qualities of the successful

SR sales persons‘? -

Or

_ -.W'lit'é th'e: advantagas and difficulties in choosing
e :selhng as & carrier.

UNI’I‘ V

: i Exi)lain _ab_qut‘ distribution network relationship.

Or

What are the problems to be faé:_ed by the salesmen

3 _" ' - (2607)
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B Com_ (Res) DEGREE EXAMINATION
e MARCH/APRIL 2016. '

" (Regular)

(Exammatlon at the end of Second Year) -

COMPUTER BASED DOCUMENTATION AND
R ACCOUNTING PACKAGE -

(Regulatlon 2010-2011)
S ".:-':ﬁ'_'-:.-_.'I‘ni.le Three homs . Maximum : 70 marks
SECTIONA (4 % &= 20 mar ks)
Answer any I‘OUR of the following questmns
Each questxon carries b ma1ks

L 'Ij.'-_'v-"Epram any ﬁve fo1mattmg commends from
o Ms Wmd

Ms W01d ?600& 0323;6 Ity @oﬁvééﬁoﬁ s’t.’mo&o;éo
‘ '";'3'-;:):580:50& '

o ) : 2 erte abc’mt data sortin.g.
- Ber .'ﬁﬁgo'ﬁ %809 roio0d,



B their pmpose
[ ;’)X)Goéo&

- % .MS Po\Vel Pomt (BJJS’b (’—,Goao?u"méa)?
; 5 . Wute the features of ’I‘ally o
e Tally &oﬁb ogssoo;so ros.

o :Expiam the pmcedme for vouchel. eﬁtx y in Tail& o

s ':'Tauy & 355> ows 30&» g)m@ a:saozso&

e “Answer any I‘IVB of the followmg questlons i

_How to. work w1th headels and footels n - a
.-:document'?' S :

3. :'_"_Explam any five key boald shmt..eut- keys with
R :_mg;'noeséﬁ mc‘és“) :nao‘ib @1@5“)‘5“ 9 D&ore

{:'_.;‘_D)Ta‘af“ sadi) 333*’§ aogge‘iémm __wé.\._éa&rmeéﬁ

What ale the uses of Ms Powe1 P01nt'5 S :' UNIT II

_?‘jExplam the table creatlon procedme in Ms- Wmd

_ -}"Ms Word 6‘“ 63&1)0{):60 foq)é.}oss ey D980508,

How to w01k w1th'graphs m Ms ch d? Explam
5--j-j_':'Ms W01d 6‘9 [_mq)eeis 030" 0. 3@1»&)9 &);680;30&

e UNIT III
' SECTIONB — (5 x 10 50 malks) ey - 2o
: : W_hat are the advantages of Macms" Explain its

Selectmg ONE fwm each Unit... -_meatlon p 1ocedu1e

-'.1"'.'-;’35°|_§{’e) :.f)e) éacﬁ)‘m@&)? 3D «eo)&\oifﬁ DR

Each question carriés 10 marks | . S o
(R :_‘_}_;__3)1."380:50:1»

e UNITI i
T Explam the parts Of MS Wmd ap p 11cat10n wmdow:-_;.' ~. 12 5"'_Explam the plocedme fox meatlon of : mall merge
with. the help ofa dxaglam N R e
: o ina w01d document

M. Word aﬁphcatwn_ wmdow mem as o><5g>§ wg)éaooeﬁes* booe)eg B0f0 %\oa 2GR
0B D300, e . 'eéao:ﬁoza» |
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E.Com. (Res) DEGREE EXAMINATION,
MARCH/APRIL 2016.

(Regular)
(Examination at the end of Second Year)
Part - 11

COMMIERCIAL CORRESPONDENCE AND
SHORTHAND

(Regulation 2010-2011)
Time : Three hours : Maximum : 70 ﬁlarks
SECTION A — (50 marks)

1. Answer any TWO of the following, (2 x 20 = 40)

(a) Write  the importance of commercial
correspondence in business, - ‘

TSos” Treless SATRE PP BRONHD
Pranod, ' ‘

(b) What are the essential points needed in a
busmess lettérs?

:)tfg@vé 55%38) DOLHOD HgreTB?




(¢) What 1s an enquiry need by the banker to
opening of an account current?

3082 gremdy  BBWeIRP ergoEs

 D5BoBOLS SRgISTE0 D00?

() What are the instruetions to bank to remit -

cash to the third party?

Sooeess B8 ey oo argosh

KH0OR0DHOI B0 BD?

Answer any TWO of the following. (2 x5=10) "

(a) Types of business letters
513@663&)66:0 Sseen

{h) Ackﬁowledgment 1'eceipt'0f goods
DB DeoBD JIeey

(¢)  Export trade documents

BB DEED e
(@ Bills
VG

9 . . (2708)

SECTION B — (20 marks)
{Short hand)

Answer any TEN of the following. (10 x 1=10)
(a) Written
(b) Hasting

(¢ Blossom

{d) Task-Master

(e) " Resemble

. (f) Retired
() Wéndrous
(hy Strife
() Happy
()')' Sudden

(k) Related
O  Wiseman.
Write the following passage in shorthand;  (10)

The financial system is the nerve centre of the

economy, A well developed financial system

greatly facilitates economic development leading
to increase in national' income and living
standards. An organized financial system 1is
characterized by the existence of integrated
developed and regulated financial markets and
institutions that cater to the financial needs.

3 | (2703)




(2901) |
B._Co'm. (Honours) DEGREE EXAMINATION, MARCH/APRIL 2016.
— | (Regular) )
(Examination at the end of Secon& Year)
' Part—11.
TAXATION (DIRECT AND INDIRECT TAXES)
' (Regulation 2013~14)_

Time : Three hours _ _ | : Maximuﬁl : 70 marks
SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the follox;viﬁg. A
1.  Explain the concepts of iﬁcdme and gi‘\'fe its features.

STROSTEY DHB0D TR OFEFOR BB
2. BExplain the significancé of VAT.
S G0, BUERGER SB0I.
R Wﬁte a short note on the following :
5 o8 38 By 500 FrABD :
.(a)h Dealer
Geob
(b} Declared goods.
BE8S Sare.
| 4. Define Annual Value.
aoggam;m DETDODR.
5. Whatis the.servicé tax?
TSRy @08 207
6. Advantages of CENVAT sqheme.

BETES Byter Booky, BARTETED.




- 8.

SECTION B — (5 x 10 = 50 marks)

Answer the following questions selecting ONE question from each Unit.
| UNITI |

Followin_g are the Indom_es of Sri Rathnam for the previous year 2010-11

year

" Compute the total Income of Shri Rathnam for the asses;sment year-2010-11 if he is

() Resident
@) N.OR.

(ii1) N on-resident.

%5 808 25070 K008 & SebyS> Gk, 2010-11 ema0

Rs.
(a)  Profit from the business in Bangalore ' - 10,000
() Income accrued in India but received in J apan : . 4,000
(c).  Profit from business in Canada but redeived in Bambay o 5,000
' (d)”  Income froin'house property in Karachi received in Bainbay - 4,000 )
(e)  Profif from business established in Encrland and deposited there ,
 the business being controlled from India 20,000
(f) Income from house property in America and deposited there ' - 2,000
. (@ Past untaxed income brought into India. during the prev:tous 110,000 .

&,

(@) . adm:srcsoes% TS0 Do0d SO | ' | 10,000

0)  risistinos® somoas wrmaho mSst oo . 4000

Ec) T BRESD Ko)oﬁa)) ;éooc% 30700 25“033‘*&)365 n)ogéﬁo;ﬁa}c%c_aa' o ‘ 5,000

)  gds Ka‘éﬁg-&o& &9&02530 500 S? ?oagéﬁoiﬁzoéo@ ‘ 4,000
©)  morpons® rgndo 08 o w¥,d heBod GameeS S0E0B

oo poboge acdatr S s0d 20,000

@ @&)85"663) g Mol eeraio ek Ga2eS 301)@00@ 2,000

© mfsoess oo?ﬁo& :J&o{ﬁaoééfo ST [SRB0 F0BATG B60osePos - 10,000

Or

How do you determine the residential status of a person?

28558 G, AT HBIBD DGO B 08D,

2

¥ TR, AprSe ST, x);:fws“czo eﬂogozéog)c‘éo 0B 0do eTralryy 6%0@23» 2010 - 11.

(2901)



10,

.11

UNIT II

Ex'plain the provision relating to : -

BHOD °e3€ JooBodd R)ofb;’w“;’)@”\ %@oﬁoﬁd’mm

(a)

(b)

(e

(d)

(a)

H.R. A
3083 e 850

Entertainment allowance

‘asﬁcse;se@éo

Rent free house
&OB T 588
Children Hostel Allowance.

Hoo HES I58.
o3 &

g Or
From the partrculars glven below compute his gross salary
Particulars
Salary :
Bonus

(b)

(c)

(d)

(e)
®

Aa)
)

(o)
(D)

(e}
®

Free gas, electricity , water

Furbished flat provided to the employee at Kanpur (population
above 25 lakhs) for which actual rent paid by the company
Rent Received from the employee

Furniture at cost (including television fridge, and glrcular)

_ B DI Hood ﬁgeééom-agbo@m.

DJT
o |
%50
&8 mgR, dogSnS O
ESEerOS® ErGD &0t 5388 EoDb Béo&‘é S
&&8R 5006 SBTe0 DB @a |
58y 28

UNI’I‘ I

Rs.
1,483,000
12,000
£ 6,000

78,000

12,000
50,000

8.

- 1,48,000

12,000
6,000
78,000
12,000
50,000

Explam the provisions of Income Tax Act 1961 regard_ma Carry forward and set off a losses.

::;cgem 200 SRR ¥8 Basitgo 80D STAND a)?éooz De0 1961 S dFordedy -
—:5830()0& '

-Or-
3

(2901)



12, Sri” Ravi submitted the following particular of Income for the current assessment year
compute Gross Total Income '

: , Rs.
(2) - Income from salary - B _ ‘ - 2,50,000
(b)  Loss from house property (self occupied) 25,000
(¢ Income from house property (Let out) 12,000
(d)  Short term capital loss - _ , " 64,000
(e) Long'term capital gain 35,000
(f)  Loss from speculation business : ‘ 167,000
"(g) Loss from business ' 1,80,000
(h)  Income from other sources : 8,000

§ 60 (S5 Sy dFer Boidd sl ITHVL Fs ($od DEoT BEAEND. Are Bndo

TR0 88,050,
_ o
@) B0 $00d swako o S 2,50,000
B gy s00d Sgo (romRd HRE) - 25,000
© Kaﬁfg K008 emraho (R adRE) ‘ 12,000
@D Sgeysds Deyed S50 ' : . - 64,000
©  fgsosiagnd oo | | 35,000
o &Jééﬁs ;5‘553«750 Mood dgo | | - 67,000
(@ TRe00 08 BKo 1,80,000
1) 888550 S0 wavdo | 8,000

' ﬁNIT‘ v
13, Explain the objectives- features of VAT.
Trged oo, ofeTod, ERTIUR0 HHBoPHID.
| | Or
14. Explain the pi'ocedure for valuation of taxéblg services.
?o;)%éool 80 88,0 VANIT VRO BHBOHB.
UNIT V
15. VV.Vhat are the salient features of new central excise valuatioln Rule?
8% Bols IBE Barerypsd ELETOS™ PEToTBo? |
| Or

16. - Explain the Import and Export Procedure.
QD33 HOZIS DALDTOR DHToHa.
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(2902)

B.Com. (Honours) DEGREE EXAMINATION,'MARCH/APRIL 2016.
| ' (Regular)- ' _ |
(Examination at the end of Second Year) |
Part II : Commerce
'CORPORATE ACCOUNTING
(Regulation 2013-14)

Time : Three hours Maximum : 70 marks

SECTION A — (4 x 5 = 20 marks)
Answer an& FOUR of the following.
1.  Explain the need of valuation of goodwill.

$&EDS Sorergold eHBEHR0 QDBOHIHN.

o

Write-any five features of preferential shares.

. eééé@ Trere B0, DD DL @ge;*’e);’)d‘ [Sjger SONSLR
3.  Write any five reasons for amalgamation.

DOGTPKINHL Ko B 00 SER0OR FRAoB.
4. Kinds of share capital. o .

T AT 0 c‘ﬁx)éb 63#@3.
5. Writé any five disadvantages of double account gystem.

- Beotss T 030R srdo 533355585 D5 S ErawB.
6.  Write a short note on Marine Insurance.
B0 BED 08 oo T EEhIR.
'SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit.

_ - UNITI o 7
7. The balance sheet of Gavaskar Limited on 31¢ March, 2010 is as follows :
~ Liabilities ~ Rs. Assets ‘ Rs.

8%, 5,000 preferénce shares of Rs. 10 each 50,000 Goodwill 10,000

10,000 Equity shares of 10 each- . 1,00,000 Fixed assets - 1,80,000
- Reserves (including provision for taxation 10,000) 1,00,000 Investments (5% Govt. loans) 20,000

8% Debentures ) 50,000 Current assets 1,00,000

Creditors _ - 25,000 Preliminary éxpenses 15,000

+3,25,000 ' 3,25,000




The average profit of the company (after deducting interest on debentures and taxes) is -
‘Rs. 31,000. The present market value of machinery included in fixed assets is Rs. 5,000 more.
Expected rate of return is 10%. Evaluate the goodwill of the company at 5 times of the super
profits.

31.3.2010 % 9,5 OBE ©f efpe 58 §od dior B -

P S e e300 L8
8% 5,000 e85 eeren 1 8 &, 10 | 50,000 &2 . 10,000
480eS Traren 10,000 @0 1 & 10 Srmes (5580 1,00,000 Forigen 1,80,000
aasmcgo; (:arr:wgg%o 10,00_0) _ - 1,00,000 eypeden (5% $gbgg amo) 20,000
8% &BoHE _' | 50,000 [5:08 esdeo | 1,00,000
ameac:s"éep | , . : 25,000 @rEa08 a8 -' : 15,000
325,000 . - 3,25,000

EBoNYY BG; SRy, BRoDD BT KoY Jifew ergo 31,000/~ en. hoges® D6y coEren
277045 D0 5,000/~ 00 KD, 630D vrad e 10%. 9B ovgrefd 5 By HEST eosw
dabod. - |

8.  From the following particulars calculate the value of share :
2,000, 9% preference shares of 100/~ each 7 . 2,00,000.

50,000 Equity shares of 10/- each Rs. 8 per share paid up 4,00,000
Expecteé[ profit per year before tax ' 2,18,000
Rate of tax 50%

Transfer to génerai reservé every year 20% of profit. Normal rate of éarniqgs 15%.
e BIOD D300 B00d T IR 6@50:{3)5&1).
2,000, 9% Q%D Teres 257, 4,8 1008 | © - 2,00,000
'é,g"b%e% 10/- & 50,000 &3 e, T 8-/-— wadosadsy 400,000
S5 B0 aav.ozéégaﬁé_ SESCVEN o 218,000
55y Bew 50%.
| @n&ég’a BestogEd ;.‘)ooigo;é) o2joS® 20%. Fres efzre Dew 15%.
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- UNITII

9. The following are the balances of J oseph Gabriel Co. Limited as on 31t March, 2010.

" Credit
‘Share capital
12% Debentures
Profit and Loss account:
Bills payable
Creditors
Sales -
General Reserve _
Bad debts provision on 1.4.2008

Rs.
40,00,000
©30,00,000
2,62,500
3,70,000
4,00,000
41,50,000
2,50,000
35,000

- Debit
Premises .
Plant
Stock
Debtors
Goodwill
Cash at bank
Calls in arrear
Interim dividend paid
Purchases
Preliminary expenses
Wages
General expenses
Salaries

- Bad debts .
Debentures interest paid = 1,80,000

1,24,67,500

Rs.
30,72,000
33,00,000

7,50,000
8,70,000

- 2,50,000
4,06,500
75,000
3,92,500
18,50,000
50,000
9,79,800
68,350
2,02,250
21,100

1,24,67,500

Additional Information : Depreciate plant by 15%. Write off Rs. 5,000 from preliminary
expenses, half years debenture interest due, Create 5% provision on debtors for doubtful .
debts. Provide for income tax at 35%. Stock on 31.3.2010 was Rs. 9,50,000. A claim of

Rs. 25,000 for workmen’s compensatio

accounts of the company.

e (508 Degew 31.3.2010 T &85 mepand ¥0.8. £ D083,

Credit
STRT° TS PO
12% &Bow)
e;vé;i Fé%be) e
ago@ Denen
am'acsnéé'e,\)'
'&926\)&5“.&13
AregrSes Basdiag
1.4.2009 76 o0 ere 06

8,
40,00,000
30,00,000
2,62,500
3,70,000

1 4,00,000
41,50,000
2,50,000
35,000

Debit

&R 8eFeR0

ES il AY |
STobEY
ame'a@ﬁ%)en
K&oS

a??soé‘beSs IR -
dewHod® 250
;’l)qﬁéoéd &oGo&
ETR0R ey

n is being disputed by the company. Prepare final

5.
30,72,000
33,00,000

7,50,000
8,70,000
2,50,000
4,086,500
75,000

3,92,500

18,50,000
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Er5208 BB 50,000

© Bsaren | " 9,79,800

e pEney 68,350

e 12,02,250

" o0 erfen - 21,100

&B0d8 36 Yo ~1,80,000

1,24,67,500 . 1,24,87,500

980 AT IrSo 1

oty 15% Srse BYEES, 68 Ened® 5,000/~ oo BEIATY, 08 BosEyso

| aBosg shusan &8, Sotairg el S0, aomiiie 5% Domen DA e S8y
£t 35% DgES0d. 31.3.2010 T ¥ 9,50,000/~ o0, S0 SIS Jowds 25, 000 3
goz)fo eao'ﬁgaoaécsg. 020 BooR0DH B, HALTEDAHE. |

10.. Followmg are the balance sheets of H Ltd. and its submd;ary S Litd. as on 31,03.2010.

Liabilities  HLtd SILtd Assets HLtd STLtd
Rs. Rs. Rs. Rs.
Share cap1tal Equity shares of 10/ each fully paid 1,50, 000 1,00,000 Plant & Machinery 1,50,0b0 1,00,000 .
General reserve ) 1,00,000 80,000 Closing stock 60,000 1,40,000
P & L account _ ' . 50,000 20,000 Investments 7000 shares of -
o : S Ltd. of Rs. 20/ each . 1,40,000 —
‘Debentures ' ' ~ 80,000 Debtors . 5,000 60,000
Creditors i . 60,000 40,000 Cash ' 5,000 20,000
: ' 3,60,000 3,20,000 | 3,60,000 3,20,000

H Ltd. acqmred sharesin S Ltd. on 1.8.2009. Balance in Reserve of S Ltd. stood at Rs. 60,000
‘on 1.8.2009. Creditors of H Ltd. are related to the goods supplied by S Ltd. These goods were
sold away by H Ltd. Prepare consolidated Balance Sheet as. on 31.03.20 10 '

31.3.0010 % 205 S0BE BoBatn TR, BEEs 05 dBE By, Y elype Igeo §od s

o).

eped H S  elen o " 8.
o 2288  ddé& _ doBE  dwBd&
e Barego s Ter L 8 6. 10 &0 1,50,000 1,00,000 2roe So8aiw choees 1,50,000 1,00,C00
SO oD Fe§gt) Teren - |
oS By " 1,00;000 80,000 S03RoD DO _ 60,000 1,40,000

4 . |  (2902)



ey AaBd B aj"@‘

150,000 20,000 Beyaches (35 .67

seegeen TC00 weeeen

&BoB8) - 80,000 a8%%,8 20 6r. THpR) 1,40,000 —
B0mTEe 60,000 40,000 aeines 5,000 60,000

‘ T A% 5,000 20,000
3,60,000 3,20,000 - 3,60,000 3,20,000

11.

1.8.2000 % 1S $2BE 2% SBES® werers FR8. ¢ §rd I0 dBES® Bastdg Deg 60,000.

5 9086 avvswrses 35 9088 2000 DK THofter Sohdo S0 DydEmron. WS J0BE
&5 BKBR0 8NPLOB. 31.3.2010 B H8GB &Y epe SHO SAIdbE.

UNIT III

Mani Limited acquired_ the business of Naveen Limited on 31.8.2015 for a. purchase
consideration of Rs. 2,60,000 to be paid by fully paid equity shares of Rs. 10 each. The
balance sheets of the two companies on the date of acquisition were as follows :

Lizbilities Mani Naveen . Assets ~ Mani Naveen
Ltd. -Ltd. _ Ltd. Ltd.
Rs. Rs. © BRs. Rs.
Share capital : Equity shares of  Fixed Assets :
10/- each fully paid 2.50,000 1,50,000 Land and Buildings 1,20,000 80, 000
General reserve - 1,20,000 18,000 Plant & Machinery 2,00,000 1,80,000
P & L Account’ l0,000 53,000 Furniture & Fittings 10,600 - 20,000
Déveldpment rebate reserve 10,000 37 ,OOO Current Assets : -
Workmen compensation fund 15,000 24,000 Stock ' 55,000 40,000
Current liabilities ' 145,000 95,000 Debtors 45,000 40,000
- Bank balance 20,000 17,000
4,50,000 3,77,000 4, 50,000 3,77,000

aregrores By

Pass the necessary Journal entries in the boohs of Naveen Limited when amalgamatlon in

the nature of merger.

263 920885 31.3.2015 5 wrer 1 § 10 Ssnate 5"5033:5 I8 DEodD éeéoge% Trere Ersod’
4. 2,680,000 &0 ey S8Hoor Bdod 35S SWBE T8 TR0 RS ERYB.
ﬁg@é_ka&)&éé& BES Doty Eowde ey efpe Q)@@o &e 808 oo &RHD ¢ 5000, 5579

 So@rHAT gr0d 58 S00BE HIFeS® DegStgey TR0,

' 1,20,000

eogpen ) 25 & 353 & ' B0 mﬁhéu 555 &
| & o e s
e Saresso s e 1 & 5. 100 | ovitges - o
oG 3E00% Sy werey 250,000 1,50,000 %> $0Bckn gdwres  1,20,000 80,000

18,000 2roew Ho8ckn cho@re 2,00,000 1,80,000
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LU TNV s 10,000 53,000 58y dobatn pedofien 10,000 20,000

eﬂeﬁéég Bews Bastiog ‘ 10,000 37,000 (S8 essaen : |

55,08 56555 08 15000 24000 ss 55,000 40,000

S0 epes 45,000 95,000 ewmytnes 45,000 40,000
| | 7508 e 20,000 17,000

4,50,000 3 77,000 . 4,50,000 3,77,000

12. The balance sheet of Sandal Tradmv Co., ]_umted as on 31.12.2003 was as follows :

Liabilities ' Rs. Assets " 'Rs.

Authorised capital : 3,000 preference shares of 100/- each  3,00,000 Goodwill 25,000
5,000 equity shares of 100/- each 5,00,000 Freehold property _1,75,000.
Issued and paid up : - - Machinery _ 3,00,000 :
2,000 preference shares of 100/- each _ ~2,00,000 Stock ~ 1,05,000
4,000 equity shares of 100/- each _ ~4,00,000 Debtors - 85,000
6% Debentures o | 1,20;000 P&L Acoou_nt - 1,90,000
Bank overdraft o - 55,000
Current liabilities ‘ 1,05,000 _

| ' 8,80,000 ~8,80,000

The following scheme of capital reduction was approved by the court.

(a) The preference shares and equity shares were reduced to Rs. 80 and Rs. 50 per share
fully paid respectively.

(b) Debenture holders agreed to receive 1000 preference shares in full sat1sfact10n of dues
() The goodwill and profit and loss account were written off,
(& Freehold property and machinery were depreciated by 20% and 10% respectwely

Draft journal entries and prepare the revised balance sheet.

" 31.12.2003 :0%3 Fo&S (B3GR d08E& =6 &30 BPO Xseé &2 (808 dorr 655&8.

WPV : g, wden &

8B oot : - S &S 25,000
e 1.8 100 /-0 3,000 o8& weres 3,00,000 %gmmois® siges 1,758,000
e 1.8 100 /-0 5,000 %853 areoren | 5,00,000 abomren 3,oo‘,ood |
o6 Sobatn DgodsD: a . s 1,05,000
Ter 18100/ © 2,000 w8550 Teren B | 2,00,000 awsptges 85,000
T 18 100/- © 4,000 a3563 reren | 4,00,000 45860 S50 g5 1,90,000
6% &Boyy | ) . 120,000

6 | (2902)



2ot L35 : : 55,000

(PR eypen, - - ‘ 1,085,000

13.

14,

~8,80,000 8,80,000
5% 70 eRrB0IudN e HIGTyE S5E0 S+ Bod Do .

(a) ©B%Y DBam S Terey BT B0eH By 500X T dosadsIre
BRODDAD ' |

(b) wsone TrB BoapY WLoBER GRoVHTTe 1,000 efED Terer DHUNTROWD
@0oREB0DB. | |

(© &S 208ak» TYPRDap T PrOM B SEDEINE.
@) hgnekos &e@om 558010 AHOERes HEIT 20% BoBAtw 10% BEFOSE B8),0565088.
. DTN éegédcg@o L;:Woinm SoBatn HHGozes &) -éé@p@ Se9EH éﬁoﬁ*&iﬁoﬁa;’m.
UNIT IV
Explain -the advanfagés é'nd Emitations of siip system of ledgér posting. -

20 He3 906" erdiy FBIEL Bk, EETETE: HEcH 8RB SBoHD0.

Compute the amount of provisions for doubtful debts from the following details of advances
of Canara bank limited. Details are in Rs. in lakhs. Total loans and advances 50. Fully
secured advances without any default by the borrowers 30. Advances overdue for 15 months
10. Advances overdue for more than 30 months but less than 36 months (Secured by
mortgage plant worth Rs. 3 lakhs) 5. Non-recoverable unsecured advances 3. Small advances

not exceeding 25,000/- to each borrower 2.

35T argoh GBE ok, Bos BYS e W0d oy wrled Homewd B, oN08.

2500 0fp BIHODES” : O awEre), BEFINE 50, avstrse Kod O B8 2850 B9
T8 Waorfe smgnen 30, 15 JooH 2009 §E Bsran I eagiye 10, 30 Jookh S 36

PooH Sud o8 axow &) eERRe (98D 3,00,000/- e e Ko o FRIT &5)8)
B, 580 80 SBAT emgRned 3, 2.8 anefies Ko 25,000/ 9 20059 38 VEHRN 2.

UNIT V

Explain the differences between single accounting system and double account system.

BORS ©T0830R DTS BB Heod BT 0S0R DEFHEN Bodgie Syrgre ErabuED.

-
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16. From the following particulars prepare Revenue Account of Prudential Life Insurance Co.
lelted for the year ended 31.3.2010. :

. _ Rs. 000 : ' - Rs.’000
Claims by death o 88,000 Claims by maturity 80,000
 Premiums : 1#* Year - 80,000 Interim bonus paid to-policy holders 9,000
Renewal ' ~ 2,04,000 Interest and rent received 86,400
Re-insurance accepted ' 20,000 Salaries . - 12,000
Re-insurance premium paid (ceded) 28,000 Audit fees : - 1,600
Commission : 1%t Year - 16,000 Rent paid : 2,000
Renewal commission . 1,000 Legal charges 1,520
On re-insurance accepted : 4,800 Traveling expenses - : 200
Commission on reinsurance ceded '1 600 Ofﬁce management expenses. : 880

8ot Ay D37 Bod 31.3.2010 & eododoy SodEeod @&@Qo‘i)é S 'azéJ*;JBSQ %0.9. 78

BRI arer BOTBA00E.

gr000 A , &5°.°000
S0 5% BowSoen 88,000 Aty Bco e5oe Boarnoeo 80,000
@mcﬁsom 13:0&3&3 Son ' 80,000 Srobhmob JY0DD mééoétf 235:653 9,000
BgS . 204000 bg$Bons 58, €3 | | 86,400
DRByRo woREBodRE 20,000 dzren | : 12,000
39003 HIGyEr Baabo (3aE) 28,000 wd6 S o 1,600
onS Bwsdvor 15,000 Bgods e | 2,000
B - | | 1,000 wesaih> Byes 1,520
wofisBoss HIGPrED SRS 4,800 (Sere pEp® o o 200
NGG PRfyirep $0ad 1,800 esH3 dKgSees sp&am - | 830
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13.

14,

15.

i6.

UNIT IV
What is meant by hfe insurance? Explain its
advantages,

BoB Hdr o AW TR B, BEIESRN
DHABoDa,

o Or
Explain the duties and authorities of IRDA.

IRDA G0, erdsghoiy 208050 efsoos. K8y

DHBoBod.
UNITV

What is meant by fire insurance? Explain its-
characteristics. : ‘ '

ofy P ode dW? TV B, XN

SHBaFH.
Or

What is marine insurance? Explain important
causes relating to marine insurance policy.

SO0 DI e DY SE0E BEr robd
B020§025 S0P sTeredy IHBoBod. |
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Time : Three hours

(2904)

B.Com. (Honours) DEGREE EXAMINATION,
MARCH/APRIL 2016.

{Regular)

(Examination at the end of Second Year) -

BANKING FINANCIAL SERVICES AND INSURANCE

(Regulation 2013-14)

Maximum ; 70 marks

SECTION A — (4 x 5 = 20 marks)
Answer any FOUR‘ of the fdllowing questions..

Explain the features of financial services.

&)é_:ajoo“a@ B3E), OEETON ;)3’380{3_0&.

Defects of money market.

(6535, 503,65 S'ren.

Explain the features of pass book.

&0 a0f By, égegvem D5BoHB0. |



What is social insurance?

o507 PIT° edre DY

Types of insurance claims,

DA gcmﬁop)e)eﬁs Sscen.
Stock exchange.
85 JEyoden,
SECTION B — (5 x 10 = 50 marks)

. Answer the following‘questions selecting
ONE fr(_)m each Unit.

UNIT I

Explain the role of commercial banks in

. developing countries like India.
UG0S0t oPNg Dodsod Beos® ey
2500 Ay HH80HH0. ‘
Or
. What are the functions of co-operative banks?

BFseY ergoHo @), dGhen d?

2 _ (2904)

10.

11

12,

oo
UNIT I¥

What are the functions and responsibilities of
merchant bankers?

BoB085 ergot D) 508050 2eEssEen i)g.\;?
| _.Or |
What are the liabilities of collecting bankers? .
HiveD 23508ty Baok), erdfsten H9?
| UNIT III. .

Define banker and customer. Explain the general -
relationship between bankers and customers.

eT5O8E IR BEH0eH DO T8 Bugy Ke

ARG HooddHney SH8oRiNw.

© Or

Discuss the general principles which a bankers
should follow while granting loans and advances,

pETey X080 WG B08rdd Sctens 2l

ergo¥th 903809 Frprdes DvBe HBjoHH.
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(2907)
B.Com. (Honours) DEGREE EXAMINATION,
MARCH/APRIL 2016,
(Regular)
(xamination at thej end of Second Yéar) '
Part II‘
R.D.BM.S
' (Regulation 2013-2014)
Time : Three hours o Maximum : 70 marks
SECTION A— (5 % 4 = 20 ;narks)
Answgr any FIVE questions.

Eéch gquestion carries 4 marks.
1. Discuss about database 'development'process?
2. What afe the componénts of database‘ systems?
3. Discuss about relational database

4. " What is the cenceptuai database design?



10,

11,

Discuss about schema. -

What are the limitations of file processing system?

Discuss about database integrity.

What are the different data types available in

SQL?

(a)

®) -
@

(b)
(a)

(b)

SECTION B~ (5 % 10 = 50 marks)

Answer the following questions,

Tach question carries 10 marks.

‘What is a file system and what are the .

problems in file system?

Or.

Discuss about Strategic database p}anning.' ‘

Explain the relational data model.

Or

Discuss about normalization process.

What is a table explain the chara_cteris’tics of
tables? . :

Or

Discuss about Client server database.

2 o (2907)

12,

13.

{(a)

(b)

(@

(-

What are the functions of Database

administrator?
Or
Discuss about Database security and

recovery process,

What are the functions and capabﬂities of
DBMS? '

Or

Explain the data base system structure?

3 (2907)




14,

16.

Calculate 4 yearly and 6 yearly moving averages.
Year : 1995 1996 - 1997 1998 1999

Sales : 112 118 122 120 . 121
Year: 2000 2001 2002 2003
Sales : 126 128 1320 - 135

.~ UNITV

From a pack of standard cards numbered from 1 to
20, a card drawn at random. What is the
probability that the card drawn bears a number?

(a) Which is a multiple of 4 or 7 and
(b)  Which is a multiple of 3 or 4?

Or

Three balanced coins are tossed simultaneously. -

Find the chances of getting 3, 2, 1 and 0 heads.

4’ (2905)

(2905)
B.Com. (Honours) DEGREE EXAMINATION,
MARCH/APRIL 20186.
(Regular)
(Fxamination at the end of Second Year)
Part IT |
QUANTITATIVE TECHNIQUES — II
(Regulation 2013-14)
Time : Three hours Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)
Aﬁswer any F_OUR of the _following.‘
1.  Define skewness,
2. Define regression.
3. Fixed base indices Vs Chain base indices.
4, Me.ntion the uses of Index Numbers.
5, Menfioh the; component of Time Series.

6.  What is probability?



SECTION B — (5 x 10 = 50 marks)

Answer the following questions selecting ONE
. - from each Unit. :

UNIT I

7. Calculate Karl Pearson’s coefficient of skewness.

CIlL ~0-10 10-20 20-30 30-40 40-50 50-60

f: 5 20 15 45 10 5
Or
8. Compute measure of kurtosis for the information

given below
X: 5 6.8 10
fr 2 4 2 2

UNIT 11

9. Caleulate Rank correlation.
Rank A 1 35 385 2 6 H -8 8 7

RankB. 2 4 8 1 5 6 75 9 175

Or

10. From the following data, find regression equations
by taking deviations from the mean.

X: 1 5 8 2 1 92 7 8
Y: 6 1 0 0 1 2 1 5

2 | (2905)

UNITIII

11. Construct Fisher’s ideal index numbers and verify
whether it satisfies T.R.T. and . R.T.

Items Base year Current year
Price  Quantity Price - Quantity
A 8 50 20 _ 60
B 2 15 6 10
C 1 20 -2 8
D 2 10 b =1
E 1 40 3 30
Or
12. . Construct chain base index numbérs from the
following ; ' :
Year : 1998 1999 2000 2001 2002 -
Price : 50 60 656 - 65 75
Year: 2003 2004 2005 2006 . 2007

Price : 80 70 60 64 . 85

- UNIT IV

13. Calculate trend values by using least squares
method., -

Year: 2001 2002 2003 2004 2005 2006 2007
Sales: 8 11 17 22 28 32 39

Or
3 (2905)




(2903) .

B.Com. (Honours) DEGREE EXAMINATION,
MARCH/APRIL 2016.

‘(Regular)
(Examination at the end of Second Year)
| Part II

" ENTREPRENEURSHIP DEVELOPMENT AND
BUSINESS ETHICS

| " (Regulation 2013’-14)
Time : Three hours Maximum : 7Q marks
SECTION A-— (4 x 5 = 20 marks)
Answer any FOUR 6f the fo]lowing questions,
1. Wriie the need of entrepreheurship.
2. Women entrepreneuré.
3. © D Programs.
4. Sources of ﬁ_naince.
5. Ethics in management,

6.  Cyber crimes.



SECTION B—(x10= 50 marks}.

Answer the following questions selecting ONE from

10.

-11,

12,

each Unit.
- UNITI

Explain the need of entrepreneurship to our
county. :

Or

Fxplain the concept of women entrepreneurship
development. : '

UNITII

Distinguish between entrepreneurs Vs

Professional managers.

Or

Write the different institutions establish for the
development of entrepreneurship.,

UNIT I11

Write the important role .pléyed by financial
institutions,

Or

Explain the social cost benefit analysis for a new
project. '

2 |  (2908)

13.

14,

15,

16.

UNIT IV
How can you prepare a new project ref)ort?
O

Explain the relationship between small and .
medium entrepreneurs.

UNITV
Explain the need of business ethics.

Or

~ Explain the ethics in intellectual property rights,

3 '(2903j_




(2906)

B Com. (Honours) DEGRET EXAMINATION
MARCH/APRIL 2016.

(Regular)
(Examination at the end of Second Year)
Part i1
AUDITING AND CORPORATE GOVERNA_NCE
(Regulation 2013 — 14) |
Time : Three hours _ Mammum 70 marks
. SECTION A — (4 x b = 20 marks) -
Answer any TOUR of the following questions.
1. Advantages of Auditing |
2. Continuous Audit
3.  Internal check
4. Vouching procedure for purchase book

5.  Contents of Audit Report

8. Development in corporate governance.



SECTION B — (5 x 10 = 50 marks)

Answer the following questions selecting ONIE from

- 10.

11.

12,

each Unit.
UNTIT I

Define Auditing? Explain the main objectives of
Auditing. ‘

or

Explain different types of Audits based on
ownership.,

UNIT II

What are the qualifications are required to
company's auditor?

Or

What is Audit programme? Explain its merits and
demerits, ‘ '

UNIT 111

What is vouching? What precautions to be taken

by an auditor while vouching the financial
" transactions?

Or
Distinguish between verification and valuation,
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13.

14,

16,

UNIT IV

Write the advantages of sole trading concerns
Audit.

Or

What is Audit report? Explain different types of
Audit reports.

UNIT V

Write objectives and goals of corporate

governance.’
Or

Explain recommendations by Cadbury and Ham
pal reports ‘ '

3 | ' (2906)






